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PART -1

GENERAL INTELLIGENCE e

1. Which one of the given responses
would be a meaningful order of the

following 7

1.  Twilight 2. Dawn

3. Noon 4. , Night
)2 3 ;" e S8 B
(€} 1,2.3.4 0y 1,3,2,4

2. Arange the following words as per
order in the dictionary :

1. Agueous 2. Aguariym
3. Aquiline 4.  Aguatic
(A) 4,3,2,1 By 1234

Lr 2413/ M 3.1.4.2

3. Which one set of letters when
sequentially placed at the gaps in the
given letter series shall complete it ?

MCA MR T aWCEPeC A
acmmma_?E{B} Camcam

{C) ‘asacmm (D} sacmmme

Directions : In Question Nos. 4 to 6, a
series is piven, with one term missing,
Choose the comect alternative from the
given ones that will complete the series.

3\

4. AMN, BOP, CQR. ?

(A) BAS (B) DST\E&‘E’

o EQP * & o W FHE S
5. slefoiialany N .

(A) 28 JBT 30

() 31 (D) 29
6. 4.11,30,67,128,7

(Al 219 (B} 228

(C) 23] (D) 133/

7,

10.

1l.

12,

o0

If the day before yesterdav was
Wednesday, when will Sunday be ?
{A) Today

(B) . Tomormow
Day after tomorrow

?/ Two days after tomorow
W,

akshmi is elder than Meenu. Leela

is elder than Meenu but vounger than
Lakshmi. Latha is younger than hoth
Meenu and Hari but Hari is younger
than Meenu, Who is the voungest 7
Ay Lakshmi (B} . Meenu
(C) Leela \?( Latha

Nikhil is 8 wvears vounger than his
brother Rohan. How old will Rohan
be when he is twice as old as lehﬁy
(A) 4 (B) 6 (C &8 (DY

In a row of letters, & letter is 5 from
left end and 12" from the ight end.
How many letters are there in a row 7

iA) 15 fE]V],G (€)' 17 (D) 18

Pointing to & lady Simon said, “She
is the daughter of the only sister of
my father”. How is lady related to
Simon ?

{A)  Mother

(B} Aumt

() ister
{ Cousin sister

If A=1, ACT =24 then FAT =79
(A) 26 (B) 25 (C) 27 (D) 24

L
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B.
———41 219(B) 228 (C) 231(D)237

507 e § @ S ) e A Y
o0 T ¥ A S 7

|, e W 2. TR
3w mEET 4, T
(A} 2,1,3.4 Bl 2.3, 1,
Cy 1,2,3.4 (D) 1.3

Frefian Tt = wEwE W ﬁ:tr i
w o o e |

l. - Aguecus 2
3 Aquiline 4, Aquatic
{A) 4,3,2,1 By 1,234
(C) 2.4.1.3 (D) 3,1,4.2

AT 0 HE T T W e
T 57 T ST SR R e
mc_m_a_¢a_ca_c_mc

(AY acmmma (B) camicam
(C}) aagcmm (D} acmmme

ﬁquan L

ooy - wv W 4 € 6 © UF SEE AR,

Sorerif v vy & 1 o i e
B e T EeT S W EE O
ol
AMN, BOP, COR. ?
(A) BAS

()} EQF

5,6,9, 14,24, 2
{A) 28 (B)30

(B) DST
(D) FRS

(C) 31429

4,11,30, 67,128, 2

1.

11.

ﬂﬁﬁﬁﬁﬁﬁﬂﬂﬁlﬁ?wm'r;wmﬁ

Tt Themre = 7

(A} #™ ;

(B) & = e

(C) & = 5 % 9% S A
Dy o =

AT WA A A g | e, WA
=7 & Afe el § o & | EEL A
s Ei T @ o b e A R
gk mEaEE EA R

(A) wEt (B) HA (C) = Dy
Tt 2 TS e AT H 8 A0 B
¥ | T W AT N A W T e o
A EFEENE ]

(A) 4 (B) 6 &8 (D) 16

ﬂmﬁﬁwﬁhﬁ.ﬁ-mmﬁﬁf
o 58w U7 T A HT E 129w
o | i o g e e E 7

(A) 15 BV 16 (C) 17 (D) 18
T T W A e w0 5 WA T
w1, “HE =T o 1 v wE S o
¥ o our uEen e § R o

gty & 2
(A) =l {B) %
(C) = um/gﬁ:fraﬁw

TF A=]. ACT =24, MFAT =7
(A} 26 (By 25 (Cr27 (D) 24




13.

4.

If ‘GLOSSORY!
97533562 and E I-‘:iif' HY' =
015968402, then GEGLDq‘:' can
be coded as
(A} 915692 um” 9157597,
(C) 9057592 (D) 9157591
lr ‘NEURDTIC™ can be written as
then how can
‘r@l‘lt be written 7
\)gv T]fF{.‘rCH]IsSY
(B) TICCHOPSY
(C) TICCO

(D} TICHCORSY

15. Some letiers are given below in the

16.

first line and numbers are given
below them in the second line,
Numbers are the codes for the
alphabets and vice-versa, Choose the
correct number-code for the given set
of alphabets.

CWEAE N JIN KL
Foog HoF g 10 & 8

IWXCLZ
198364, (B) 198264
(C) 198354 (D) 197354

From the given alternatives select the
word which can be formed using the
letters given in the word.

PREPARATION
(A} PAMPER (B) REPEAT
(C) PARTITION UP“ PARROT.

17. From the given alternatives select the
word which cannot be formed using
the letters of the given word.
INTERYENTION
(A) ENTER
(B) INTENTION
(C) ~INVENTION

ENTERTAIN

Directions : In Question Nos. 18 & 19,
select the missing number from the given
FEsponses

18, 2 24 48

3™ odla7

4

() 10/ (B) 16 (©) 12 Dy 22
19, 81 36 25

| 49 /100 36
v . S |
139 . 200 7
107 By 77
ey 27 (D) 5o
Directions : In Question Nos. 20 & 21,

some equations are solved on the basiz of a
certain system. Find the correct answer for
the unsolved equation on that bas:s.

M., 4x6%0 =694 5x3x2 =325

THEwd =27
(A) 729 (B) 272
(e 827 @ 279

2L K 24@=3ﬁand

5552 = 30, then
673

32 (B) 36 (C) 34 @ 39

SPACE FOR ROUGH WORK




f_/__

S

13, == 7% 3= 9™ § ‘GLOSSORY’ &
753356 e wEm #

‘GEOGRAPHY' = ‘915968402°
e = koW T T 9w A
\GEOLOGY" T et fivma = 2
(A} 915692 (B} 9157592
(C) 9057592 (D) 9157591

14, s gz W § NEUROTIC™
TICRONEU® T = &, 7 =901 §2
% PSYCHOTIC' ¥i &5 H&T
g WA F 0 =" meciMo

/~ (&) TICOCHPSY

| 1) By TICCHOPSY
(C) TICCOHPSY
(D) TICHCOPSY

15. ﬁﬁ-mmﬁmﬁﬁqwq%m
e A g i o SE R E
sie 3y s UH TR g2 € | U
e T A T
Cc WEAZXIYKL
19 57 48 1026

'.i,f IWXCLZ
(A) 198364 By 198264
)y 198354 (D) 197334

1923 ¢ Y,

16. ﬁqﬁﬁmﬁﬁmmﬂé‘fqﬁquﬁ
S8 fr o T § AR e ® A
T B

g']““-.IPREPﬁHﬁTIDN

L/-' (A) PAMPER* (B) REPEAT
(C) PARTITION» (D) PARROT

17. Bt S § 9 W qE A
ﬁf{mmﬂ;mfﬁﬂmﬁﬂﬁ?ﬂqﬁ
FAT |
INTERVENTION

{A) ENIER
(B) INTENTION @
(C) INVENTION
(D) ENTERTAIN

ﬁiw:mﬁ_lse-ﬁrwﬁfmanamﬁﬁ
A e T A

18, 2 24 48
3 9 27 @
\I}f 40
ad 10 iajy_g\m © 12 (D) R

‘19, Bl 36 23 g
by

rft? 100 36 5!
w0 1“64 .16
30, 200 " ?
(4 13 107V (B) 77
(Cy 27 (D) 50

Sy e = 20 3 21 # T FHET
e T TR & 3R T T
E | gEr amaw T S SHE
T 3O T Fg |

3. 4x6x9 =604, 5x3x2 =323

Tx8x2 =1

(A) 129 (B) 872
(C)/ 827 D) 279
i

71, ofr 2463 =736 T
5552 = 30, 7t

32:=2
2k 32 (B) 36 (C) 34 (D) 39

T T4 % T AT

002 PM 3
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22, Select the comrect combination of
mathematical signs to replace * signs
and to balance the given equation.

T -?
SH¥R*5%8* 14

L ]

nj‘-&] -:_.-:a:= \.93‘] W=
}Qj/++=- ‘(;Hﬁ + X+

23, If — miean ¥, ® Means +, + MEeans +
and + means —, then

0x12+3=-6+060="?
LAY 44 1 16
(C) 7.95 gr:n/ 4F

24, After starting from a point, A WiuKs
1 km towards East, then tuming to
his lefi he moves 3 km. After this he
again turns left and moves 3 km. In
which direction 15 ‘A’ from his
starting point 7
(A} North {B) East
(Cy West \{j}/ South

25. Ram goes 15 meters North then tums
right and walks 20 meters, then again
turns right and walks 10 meters, then
again  tumns right and  walks
20 meters. How far is he from his

nal position 7
Ay 5 (B) 10
(Cy 15 (&) 20

Directions : in Question Nos. 26 and 27,
two statements are given followed by two
conclusions 1 and 11 You have to consider
she statements/inferences to be true even if
they seem fto be at variance from
commonly known facts. You are to decide
which of the given conclusions, if any,
follow from the given statements. Indicate
YOUE answer,

26. Statements (i} Some chairs are
made up of wood.
(it} Some tables are made up of
wond.
Inferences (1) : All wooden things
are either chairs or tables.
{I[): Some chairs are
talles,
{A) Only inference I follows.
{B) Only inference I fl.ﬂluv.'s."-""
(C) Both inferences T and II follow.
AD) Nene of the inference follows.

27, Statements (i} For protection of
Indian museums Central Govt.
is responsible.

(ii) Victoria Memorial Hall is
national property.

Conclusions : (1) Indian museum is
national property.
(TI) Historical property of
nation is protected by the
Central Government,

(A)] Only conclusion | follows.

{B) _.Only conclusion II follows,
Both conclusions | and 1T follow,

(D) None of the conclusion follows

o ACTF TOR ROUGH WORK



F27,
two
pder
m if
fide
iy,
i1

dre

b

of

is

SHRRS*RF |4 Tq/
(A +—w= W o =
iy ++=- (D) +x—+

23, A - m AR, W W AR
AT Wres ek — A

. dx12+3=-6+060=7?
Dwu o

(Cy 795 BT 4

24, TH W | U9 o, A TE W M0
3 L S OE, TR At #w gEew
3 AL e ¥ | aw 3 = e A
AW gEE 3 fedt wen kA aE

mhrma s FaEmg e
(A) T (B) T=
(C) iy (D) =i

25, W 3 W AW 15 W W ke o
HIT GEHT 20 Hiew W b, i g e
AW qEeT 10 Hew wer ¢ e g T
AT M E Al 20 A e B | e

TEw v W= 26 AT 27 | o T A
g e | Airn Reoom & | st
FAAT T GAET T S0 O
o AEET: W TE ® e wEm e
g | wmE o wer £ e few oo
R T W W A, A S f M
w4 H faw s o s 0T e
= W | 39 I e

26. WU (i) FO g TR R AR |
(i) F Ho e WA
Freed (1) =t w5 = A T A
Enifpf e
(1) FT FHGAEAE |
(A) e feed | e i
(B) ZFae T 1] e b
(C) Fed [ st e €
(D} =T e F 8 w5 ol B

27. WU (i) ORI GUEwEl wOEm,
WA T = e
(i) EEifr  EifmE

T TR E
o . (1) vt i e e
(1) T % TR e
T HEE TUET §

T W
(A) e fampe | FeFean &

S T e | e g ke (B % frees 1] free b |

{A) 5 (B} 10 (C) T 1 01 =1 e

(C) 15 (D) 20 (D) = W | FE e e e
— R S

e —



Directions : In Question Nos. 28 10 34, Directions : In Question Nos. 35 to 38,
select the related words/lettersinumber find the odd wordsletters/number pair
from the given alternatives. from the given alternatives -
28. Cobpler : Leather : : Carpenter : 7
. “IF 35. (A) Barer (B) Purchase
Furniture {(B) Woad 5

(€} Hammer (D) Chair (£ Bala P Barrow

29. Foot:?:: Hand : Wrist 3. (A) Flag : Flagship

.,{-(yﬁnkhg D) Leg ﬂ War : Worship
(D) Friend : Friendship
30. Chair; Wood :: ?

(A) Book : Print 37. {A) BDFH (B) MOQS
Mirror ; Glass (Cy SUWY (D) TVZE

(Ch  Plate ; Food e 1,;)/;- = -

(D) Purse : Money i ' il

(C) 49-_64 (D) 81— 100
1. EDUCATION : NOITACUDE : :

INTELLIGENCE : 7 39, Find out the set among the four set
{(13:20:27

{B) ECNGEILLTENI

\(Er ECNEGILLETNI (W) (511 18
(D) ECNEGILLTEN] \)B/ng‘:ﬁg%:;sz;
(C) (18:27:72)

32, AZCX:BYDW : HQIO:? (D) (7:14:28)
Y (A) _GREP (B) IPKM
\y(]i[iﬁ (D) GRIP 40. How many Ms oceur in the following
series such that it is preceded by W
33, 0E:66::%:3 and followed by V ?
(A) 2 Qf/: (C) 12 (D) 19 XUVMRSTMWNVMWOP
—~ : MWUVMWACWMVHPN
A 32:21::35:2 VWMWTUN
(A) 531 (B) 53 (C) 32 Y 26 b A Y 2 lEC} l (D} 5
L

SPATT FOR ROTIGH WORK




13

Fdyr . (wew W= 28 W 34) frw e fEeedl A
T TR S R F A |

8. mﬁ'm:iﬂﬁ:?

T (AY (B) ==t
(C) wE (D) T

29, TR R
}u i (B) W
C) =& (D) &
3, T TEE 7
A) TS TR
B e . (e
(C) W (aTeH) : Wi
(D) TH (23 ; 5
31. EDUCATION : NO GIUDE o
Li CE:?
ECENGILLTEIN
B‘i] ECNGEILLTENI
ECNEGILLETNI
() ECNEGILLTENI

‘31_1\ AEL:EL_ mpw naz{u
v¢A) .GREP (B) RN
.g;ej IPKN D) GRIP

-3;- I:rE ﬁ{a 1 7: 38
(A) {Br 45 (C)12 (D) 19

N

32 2’1 23510 L
™Y (A) 51 (B) 53(Cy32 DY

fiwr mmTmn B EMTEE g
Tl § W fEwn W A TR
o |

35, (A) Twfam (B) AW
() T (DY T

36 (A) -
(B) T : WO e

5 T
(I e RRLEG
EEG
37. (A) BDFH (B) MOUS
U:*.n sﬂw&f © TVZE
| e
38, "{ﬁ] g 15 (B) 25-36
(C) 49-64 (D) 81 =100
3 B | ]
29, ¢ oo o uw T § =R wE W A
Fifo W BT W A F A |,
5369
(A) (3711:18)
By (18%25:31,

() {1_&‘-. 371 72

) (7:14:29

40, Fretates swT g § e MW
R T £ e o ow F o
agH N F?

XUVMRSTMWNVMWOP

MWU?MW#CWMYHF‘E\
VWMWTUN

iﬂa}ﬂ{BJE{E}’l(D]ﬂ




41. In a gathering seven members are
sitting in a row, ‘C’ is sitting left 1o ‘B’
but on the fght w D, ‘A’ s sitting
right to ‘B'. ‘F' is sitiing right o "E
but left 10 °D", ‘H" is sitting left o ‘E",
Find the person sitting in the middle,
(A) c\g;/DEH:} E (D) F

42. In 60 families 30% of the tamilies
own a car each. S0% of the
remaining family own a motor cycle
each. Balance of families own g
bicycle each. How many families
own bicycle 7

{A) 12\(9;{1 (Cy 18 (D)42

43. Select the related figure from the
given alternatives :

Question Figures ;

N Lé_’\;f |
Sjsuinyny

W B ©

44, Find the odd figure from the given
alternatives

@) 1PN

45. Choose the cormrect alternative from the -

given ones that will complete the series,
Question Fi

- ]

Answer Figures :
Hi- ] e e
Fﬂf‘i\ (B) (C) f%_

46. Select the missing number from the
given responses.

*

B
5
ko
v,, —N =
T

(A) 2 (B} 52 ‘&g{ﬁ[{m 28

47, Identify the diagram that best

fepresents the relationship among
classes given below :
Mammal, Dog and Bat

@) (©)o ® (D
) .\/LB;/

48.  Which answer figure will complete

the pattern in the question figure 7
' tion Figure :

Answer Figures :

NN

A @ O @

44493

&

SHAT R4S

.__
L]
F

C

5
e T T

M =
¥
if

17




n the

st

b
ag

il. wwﬁwmﬁﬁﬁﬁﬁﬂ%il
o R A e e D F
=t s | ‘AT FEr B A AT
Py E F T A ey D W
= Fw R bR el 3R

- AmHEREEE?

(A) C (B)D (©E (D) F

43 60 wEw B # 30% dfEn 9
s sl @ £ ¥ OfEn ® 50%
e TR L 0L e ol
i1ﬁﬁqﬁaﬂfﬁqﬁ$ﬁwm
mﬁ?ﬂhfmﬁqﬁmﬁtwm
AR E 7
(A 12 (By2l (C) 18 (D)42

43, For o Pt o 9 weife SMTHTT 4T
mmﬁlﬂi

NN

&

'u

s[salesfes

44, T Pt # # fae T AT |

45, e Pt 6 TR G A ST A 4 &
TR |

]
| | ]

(A (B) (<) (D)
46, Femr T Pt 8 o ﬂ;mﬁﬁm |

@) (0)o @ (0D
© D)

48, T T 2 W A ¥ Ry

=t T F 7
WY W

o

x|
{A) (B)

(Ch (L)

Z

TF T4 o T W

£2)

2PM 3

11 CG 203



49. A piece of paper is folded and cut/ 45,

41. punched as shown below in the
question figures. From the given

answer fgures, indicate how it will

appear when opened ?
Question Figures :
i @ 9| 46.
1
Answer Figures :
oe L2 L) YooF Yaoowd
¥ |le of| 4w a¥® va
&4 e, ®l| aw op 49
ee | |& af|smoaf|scos

-

]

(A) | (B) B

50. From the given answer figures, select
the one in which the question figure
is hidden/embedded

Question Figure : 47,

Urs

Ans ErfF' Ures : 48

X\ <P|| BB

(B} (<) (D

if T_F means +. LI means "',
‘" means ‘=", *A’ means ‘+', then

155040 18A8=7
(A) 12 (B) 16 (C) 28 (D) 33

In a peculiar mathematical operation,
before any operations are done, the
numbers are changed as per
following rule ;

1,3,5.7.9— changed to 2
2.4.6, 8 — changed to 0

00— changed to 1

Solve the following equation :

4792 + 6785 - 4071 - 968 = 7

(A) 122 (B) 100 (Cy 211(D) 200

Amil is fifteenth from both ends of a

row of boys. How many boys are

there in the row 7

(A) 15 (BY16 (C) 30(D) 29
3t ] rd

If the difference between g andy

of a number iz 6, then the number is

(A 240 (B1 120

cy 9 Dy 144

: 49, In the following number series, how
FOR ‘cﬁ%%}'%%ﬂw ED many 9's are followed by an odd
; number and preceded by an even
43. Find our the wrong number in the given number 7
e 4713891694395432971954821495178
V] 1 i % rA) 2 (B) 3
A) 101 (B)y 121 (C) 169
44, ;}ﬁ‘n I:]Ih b{} 5;[2{:?5 G ks
g is at the bottom of a et : Sk o
well. Each day he jumps 3 feet and 30. How many Tuesdays are Fﬂﬂlblﬁ‘: if
slips back two. Af that rate, when the last day of the month (excluding
will the frog reach the top of the well ? February) is Wednesday 7
(A} 17" Day (B) 18" Day {Aa) 3 B, 4
(C) 20" Day (D) 21" Day (Cy 5 (D) 6
SPACE FOR ROUGH WORK
CG 2013 12 002 PM 3
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stion,
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49.Tmm@:ﬂmﬁm 45, e T I mae+, wmadt
F HIEHT FeH T = AR e s o
Sl i i e ‘xl,ﬂ:}ﬁrﬂﬂi’ VAN e
WA HTHT ; +,
5t 5 9 155040 16A8=2
ol (A) 12 (B) 16 (C) 28 (D) 33
: 46, T fafwe wfeE d@hEw A oA
@H;f”?“'f"# S g F e # T, st w
ve o o)) 45 |lav e T o g e e
e e alla%eal e 1,3.5 7, 9% s £ 2
(A) (B) € (D 2, 4.6, 8 & T5F A O
bt F e €18
50. % IOT WHEA T H T I A0 )
TIH HTE SR BT I
- 4792 + 6785 — 4071 —968 = ?
z (A) 122 (B) 100 (C) 211(D) 200
- 47, W ASH W OF G & 5 B A
iy : TEEE WE W E | i A e e
) 10| <P |85 s
(A) 15 (B) 16 (C) 30 (D) 29
A (B O D 48. ofr fedlt g & 38 o 13 F e
S gzt wiranet & s 6 &, A He e dndt o
- g ., . M {A) 240 (B) 120 (C) 96 (D) 144
43, =1 TE SEen § e wear e Reeeat
& = S | 49, Frofffer g dum & 03 e o §
196, 169, 144, 121, 101 Forree s e W o wEE WR HE
(A) 101 (B) 121 {C) 169 (D) 196 2
e S e T 4713891604395432971954821405178
¥ | TF WAEA 3 ST g § i 2 B WAy ” s i) % S
i fhee S I TH W OR, % 50. = Fedt mw (el & s oW
TomaT 5% w9 e 7 st & quEn &, A 39 9w H
(A) 173 (B) 18% fy HieEr w9 § 2
(C) 208 F= (D) 21% fam (A)3 (B)4 (O 5 (D)6
T T % Teny v
002 PM 3 13 CG 2013




PART -1I
ENGLISH LANGUAGE

Directions : In Question Nos. 51 and 52,
four words are given in each question, out
of which only one word is correctly spelt.
Find the correctly spelt word and mark
your answer in the Answer Sheet.

51. (A} Adalosent (B) Adcrlasn:cntlr
ﬁ”ldﬂmsmm (D) Adaloscent

52, ,_Lﬁf Sovenir ;£ Souvenir 1
(C) Sayenit™ Suvenior

Directions : In Question Nos. 53 to 55,
four alternatives are. given for the
Idiom/Phrase underlined in the sentence.
Choose the altermative which best
expresses the meaning of the Idiom/Phrase
and mark it in the Answer Sheet.

53. I you want io sobve the problem for ever

you st take the bull by the homs.
(Ay pull the bull's horns.,

(B} face a difficulty or danger boldly.

(=: run away from 2 difficulty or danger,

face a difficulty or danger
confidently.

84, Rajib washed his hands of the matter
long ago.

(A) ~overcame the difficulties

refused to accept responsibility fo. -

C) took the responsibility
(D} refused to change the decision

All the neighbours gave her the cold
shoulder because she ill-treated her

daughter-in-law.

(Ay showed intentional
unfriendliness to her company
telt her shoulder was cold.
showed dislike for
COMmpany.

showed liking for her company.

5.

(B)
iC)

her

(D)
CG 2013

>

14

Directions : In Question Nos. 56 to 58, out
of the four alternatives choose the one
which can be substituted for the given
words/sentence.

56. A person who runs away from justice

or the law
Refugee (B Martyr
{C} Fugitive (D) Recluse

57. A place where bees are kept
{A) Aviary Apiary
{C) Cranary ) [hspensary
A hater of women
{ &)+ Bigamast
L/ “Misogynist
(C) Misanthrope
(D) Polygynist

55,

Directions : In Question Nos. 5% and 60, a
part of the sentence is underlined, Below
are given alternatives to the underlined part
at (A) (B). (C) which may improve the
sentence, Choose the correct alternative. In
case no improvement is needed your
answer 18 (D). Mark vour answer in the
Answer Sheet.

59, The crimingl was ordered 1o be
\ hanged 1o death. g
{A) hung to death
{B) hanged till death
hung till death
(D) noimprovement

60. The expert was very interesting in

this cardidate,
ﬁua having interest

(B} was very interested

\l_{?}/ is having interest
(D}  no improvement

DOZ PM 3




Directions : In Question Nos. 61 to 65, a
sentence has been given in Active/Passive
Woice. Out of the four alternatives suggested,
select the one which best expresses the same
sentence in Passivel Active Voice and mark
vour answer in the Answer Sheet.

o :
61. 1 wook care of his dog, {/_
> { &7 His dog was taken care by me.

(B4 His dog is taken care by me.
{@{ His dog is taken care of by me.
{1 His dog was taken care of by me.

62. The washerman will

clothes in the evening.
@

retarn  the

(A) The clothes will have to be
returned by the washerman in
_the Evening.

{(B¥ The clothes will be returmed by
the washerman in the evening.

(C) The clothes will return by the
washerman in the evening.

egl Tni the evening the clothes will have

! been returned by the washerman.

63. He picked up the telephone apd

dialled the police number.
(A} The telephone was being
Ee | picked up and the police

b number dialled.
w 9{5 The telephone was picked up
S and the police number dialled.

{C) The telephone had been picked
~[ up and the police number dialled.

(D) The telephone has been picked
up and the police number dialled.

64. An i-pod has been bought by
Anubhav's mother.

(A) Anubhav's  mother
engaged In buying an i-pod.

(B} Anubhav's mother had bought
ani-pod.

{C) Anubhav’s mother has been

VH{, buying an i-pod.
)

Anubhav's mother has bought
002 PM 3
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65. Some girls were cleaming their
dormitories.
(A) The dormitories were cleaned

by some girls.

(B} The dormitories will have been
cleaned by some girls.

TF& The dormitories were being
cleaned by some girls.

(DY The dormitories are being
cleaned by some girls.

Directions : In Question Nos. 66 to 70, a
senience has been given in Direct/Indirect.
Out of the four altematives suggested,
select the ome which best expresses the
same sentence in Indirect/Direct and mark
your answer in the Answer Sheet.

66. He swore in the name of God thit he
was ignorant of the matter.

{A)} He said, "T'm ignorantby God "

g " He declared, "God knows [ was
(- ignorant of the matter.”

' He said, “By God ! I'm
ignorant of the matter.”

}E? He said he was ignorant of God.

67. He proposed to his companions that
they should not miss that chance to
see the last show.

(&) He said to his compamons, "Let
us iof to miss the chance o see
the last show.,”

{B} . He said to his companions, "Let
us not miss that chance to see

the last show,’
(C) He said to his companions,
“We should not miss that

chance to see the last show.'

He said to his companions, ‘Let
us not miss the chance W see
the last show,”

(o

CG 2013



68. "Bring me an elephant with one
golden tosk,” the witch told her
minion.

(A) The witch requested her minion
to bring her an elephant with
one golden sk,

(B) The witch told her minion to
brinig her the elephant with one
palden msk.

{C e witch ordered her minion
to bring her an elephant with
one golden tusk.

(D) The witch advised her minion
to bring her an elephant with
one golden sk,

6%, “How much will you pay for this
paW S " Jack asked the strange man.
(Mg~ Jack asked the strange man

how much he would pay for

) COW,
\(BY Jack asked the strange man
how much would he pay for
i that cow.

(C) Jack asked the strange man
how much would he pay for
this cow.

(DY Jack asked the sirange man
how much he will pay for that
COW,

70, The teacher said. *Water boils at 100 °C.”

(A) The eacher told water boiled at
@ 100°C,

(B} The teacher said that water

iled at 100 °2C,
he teacher said that water
boils at 100 °C,

(D) The teacher told that water
boiled at 100 °C.

CG 2013
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Directions : In Question Moz, 71 1o 76, the
1* and the last sentences’pants of the
passagefsentence areé numbered | and 6.
The rest of the passage/sentence is split
inte four parts and named P, (3, R and S.
These four parts are not given in their
proper order. Read the sentence and find
out which of the four combinations is
correct. Then find the correct answer and
indicate it by blackening the appropriate

oval (@) in the Answer Sheet,
7. 1. Six* robbers entered a
Nationalised bank today at
Ny 33000
"P.. One group kept an eye on the
customers,
). The assistant manager was
{H forced to unlock the viult,
SV R The other group held the

Manager at gun point.
5. They cut off the telephong lines
and deactivated the burglar alarm.
The whole operation was over
in 20 minutes.
w-YA) _SPRQ (B} P5RO
POSR (a1 QFRS

AIDS 15 an incurable disease

which affects the resistance

power of the body.

P. People soccumb within two

years and often die inspite of

any treatment.

AIDS is caused by a virus

named HIV.

In such a condition the body is

totally defenseless against all

kinds of infection.

5.  HIV destrovs the white blood cells
which fight the bacterial virus,

6.  Thorough research is going on

throughout the world _for the

prevention and curg-Gi AIDS,

TR

(A) QPRS QSRP
(C) RQSP (D) SPOQR
002 PM 3
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A
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(D}

75 L
i P.

(A)
(B}
)
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Books are the best company',

Through books we even see
them as if they are really alive.

They also give us the best
gOCiety.

We hear what such great men
said or did.

They help us in establishing
coptact with many great men.

As we read, we share great
thoughts with great men.

PQSR
QRSP
QSRP
SPQR

One of the greatest advances
has been the invention of
COMPULETs

in modern techndlogy

in industry, administration and
education,

which are widely used

and in almost every sphere of
human life.

PORS M
QPSR

gprs O Fe
SPQR

The amount of oxygen

to meet the increasing demands
due to indiscriminate
deforestation

is being diminished day by day
which is released from the
plant Kingdom

of the human population.
ROQSP

PSRQ

RPQS

SRQP

17

76. 1. A patient accusing a doctor

P. of malpractice will find it
difficult

). without another doctor’s
festimony

R. toprove damage

S.  oreven file a case in the court

6.  about proper medical procedures

Ay RPOQS

(B) SQPR G

{C) QRPS

(D} FPR3Q

Directipns : In Question Nos. 77 to 81, in
the following passage some of the words
have been left out. Read the passage
carefully and choose the correct answer (o
each question out of the four alternatives
and fill in the blanks :

In these days of cable television the radio has
again become popular. As in the days before
the _ 77 of television, people switch on
their radios first thing in the moming. FM
channels of every _ T8  can be heard
broadcasting news and songs of every

79 . More than anything else, people
prefer to listen _ B0 which brng a
refreshing change to the _ 81  routine of
their everyday lives,

. gj(‘)/ advent

AppeArance

JABY
(C) birth (D} genesis
T8, range (B) wariety
Jei, frequency: (D) category
79. (A) state (B), language

{7 description @’f kind
{(A) into the songs @ -

( from the songs
me Wm@
o

the songs
(D} light

to the songs
CG 2013

80.

(D)

81. (A} packed

{C) exciting



Directions : In Question Nos. 82 to 86,
you have brief passage with 5 questions
following the passage. Read the passage
carefully and choose the best answer to
cach guestion out of the four alternarives
and mark it by blackening the appropriate
oval (4fe) in the Answer Sheet.

Bringing up the baby is now a science
and fine art | Most of the maternal
grandparents.  would agree  with  thig
statement! My mother lost fifteen kilos in
six_months when my son was born and [
gained that as much, Both WEYS it was
because of _the anxiety and shared
responsibility. )My colleagnes  welcome
retiretment when their daughter is ready o
deliver or had just defivered, They mogt
often befriend young experienced mothers
and spend long counselling sessions with
them collecting tips on how to tackle a
Crisis,

It is a funny sight 1o see grey haired
wormer browse “Bringing up Baby” books
at the local book store, One tends ta think
what they did with their own off springs.
Ask them and par comes the reply “it was
50 easy then, They grew up on their own™,

The mother may wear many hats at the

same time. But to her or her parents, the
ming boggling thing for the first few years
s diaper changes, ciadian rhythm ang
continual féeding, At home social life is
taboo. Phone calls give cause for irritation,
music becomes noise, friends and reladives
become total strangers. the domestic help »
spirit of mercy and the pediatrician a fairy
godmother. Raising a kid is akin w a
guerilla warfare and it you hear a woman
say that her baby ‘is beauriful and perfect
and an angel all the time’ then she 15 the
grandma.

CG 2013
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B2. What is difficult for maternal
grandparents+—
(A)  Raising grandchildren
(B) Feeding children
{C) Giving birth 1o grandchildren
-{Q.}f’fﬁdnging up bahies

8. How did the mother and the daughter
share the same anxie i
{A) Both were uneasy with the new
born

(B) Both feared bahies

(C) Both were concerned about
raising the baby
Both were nervous
shared responsibility

about

84. Why do female colleagues welcome
retiremenit.?

(AT They get lot of fres time.

(BY-* They become free to attend i
household dutjes.
“HET They can be of help to their
daughters and their offspring.
121] They can cook good food for
their children and
grandchildren.

85, "To wear many hats’ means
Wear helmet
\(Br Wear head gear
iC} Pbo hairstyling
(D)  Underake much work

B6.  Why i 1al life taboo at home 7
\{B@::es are demanding.
(B)™ Babies do not like guests,

(C) 2 Babies hate parties.
(BJ Babies prefer 1o go out than
stay at home,

002 PM 3
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Directions : In Questdon Nos. 87 o 91,
some parts of the sentences have errors and
some are correct. Find out which part of a
sentence has an error and blacken the oval
‘@) coresponding to the appropriate
lerter (A, B, C). If a sentence is free from
errors, blacken the oval corresponding to
(Din the Answer Sheet,

] : i
The principal |, started his lecture

ERMeTTony S RE Ty
with a pessimistic note. No error.
(C) (D)
48, Rohan had beep plaﬂngf
L&)
for his club for fifteen vears,
(B) o= it

when his elbow got injured. No error,

() (D)

Mone of | the Iwing
59, A / —HF&’ i
offered to help me. . No error.
] (I
My teacher | did not object

(A) B ;
o me using the calculator, Jl,I‘Jn:- EITor.
iy (D)
The r]m:rJr has owverflpan ; its l:-anks.},
L. Ay N (C)
Mo ertor.
(o
Directions : In Question Nos. 92 to 96,

sentences are given with blanks to be filled
in with an appropriate word(s). Four
alternatives are suggested for each question.
Choose the correct altemative out of the
four -and indicate it by blackening the
appropriate oval (@) in the Answer Sheet.

92. The bird's wvoice was speaking
all Iving under stars,
(A)wo  (Byfor (C)ar (D)in
002PM 3
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93.

my food and my repose

igr were salted,

w.;.-&)\e}.,_r’ {A) None of A&J-e*ﬁ]lﬂf

{C) Both {D) Bothof k |I
04, India will arch rival
Pakistan in the finals.
(A) takesafter (B} looks after
{C) taken back "Takt on
95. The shepherd was looking after the

__ofshesp.
({A) crew (B) gang (Urﬁ/ﬁ I[D} floc

Wi‘gsm [ Lot
96, any of us believe

something modern
truth is otherwise.

(A) usiless (B) though{C) if

@.

sCIence is
the

iDyasif

Directions : In Question Nosz. 97 and 98,
out of the four alternatives, choose the one
which best expresses the meaning of the
given word and mark it in the Answer Sheet.

97. VIVACIOUS

(A I;jvtly (B}  Venomous

{Cy Clear (D} Superior
98. Staunch

({A) Loyal (B) Benign

(C) Good (D) Wise

Directions : In Question Nos. 9% and 100,
choose the word opposite in meaning to the
given word and mark it in the Answer Sheet.

o9, Modesty
\_@.’5{' Honesty {(B) Vanity
@/’bﬁgmality (D} Variety

100. Spite '
(A) Spleen (B) Wenom
(C) Spirt (D)  Affection

CG 2013
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101, 1f2x+3y:3;+5y=1s:19.men§

is equal to

3 2 3
Wz B3 ©f o3

s \/ 0.881 x 0.324 x 4.624 is
1.5625 x 0.0289 % 72.9 x 64
(D) 204

€y 0.024

103, In & particular type of alloy the ratio
of lead to tin is 5 : 6. The amount of
lead should be added to 12.1 kg of
this material to make the ratio 1+ 1 is

1.1 kg {B) lkg
(C) 09kg (D) 1.5ke

104. If the average of m numbers is n? and
that of n numbers is m2, then the

average of {m + n) numbers is R P
A- WA

-
A T \ABJ un

yn:wn

105. The simple interest at x% for x years
will be T x on a sum of

C) m=n

| = 12 |'].:- =
AT

106. A shopkeeper sells an article at a oss
1
of ]25'%. Had he sold the article for

¥ 51.80 more, he would have earned
a profit of 6%, The cost price of the
article is
,_gdzau (B) 580 (C) 370 (Dy450
107. The cost price of 18 articles is equal
to the selling price of 15 articles. The
gain is
(A) 25% (By20% (C) 18% (D) 155
108. Successive discounts of 50% and

S0% is equivalent to
(A)  100% ) 5%
By 255

C) 30%

3
109. A, B, C enter into a partniership with
4

shares in rheraﬂng:;';, After 4

months, A increases his share by

50%, If the total profit at the end of

the year was ¥ 43200, then the B's

share in the profit is

(A) %4200 (B 4800

(Cy T7.200 (D) T 8,000

110, Two trains, of same length, are
running in parallel tracks in Opposite
directions with speed 65 km/hour and
85 km/hour respectively. They cross
each other in 6 seconds. The length

{A) Tx (B) ¥ 100x of each train is
100 100 (A) 100metre (B} 115 merre
L v @) 7 (C} 125metre (D) 150 metre
-d' ﬂ’- LR - e T

-

101.

103.

1105,

105,



19l.

102,

103,

TS AT

a2e+ yidraSy=18: 9E AT

e 4 2 N
(A} {B}3 {C}3 {D}ﬁ

[ 0081 %0324 x4.624
"\ 13625 % 0.0289 x 72.9 % 64
TR E?

(A1 24 (B)2.4 (C)0.024 (D) 2.04
e T TR W A e 2
aa;ﬂmﬁ;ﬁklﬂaam,ﬁﬁﬂmﬁ
| ¢ 1 =3 % o eE fae & 121
T e AT S e e ?
(A) L1fsm {By 1 TEm
(€ 09w (D 1.5 e

o m HEme w1 s pf # AW oo

ST T m B A (m + n) WEE =
v e B Y

LA % iB) mn

{C) m-nm M)y m+n
o e w BT T T W iR
A =7 o7 TaET = T B T

(A) Tx (B) T 100x
{Ch E'l%ﬂ (D E-l'f?

= k|

A=l

106,

107,

108,

109.

114

l
o

T g T AR 125% BF O S &
b | ot 5o o A € 51.80 Few H
e gL A 99 6% W fEel AW
TN, W EE W A T
'

(A) 280 (B)580 (C)370 (D)450

(A) 25% (B)20% (C) 18% (D)15%

s0n W S0% W whw I e
YT W W % A B ]

(A)  100% (B) T3%

(C) S0% (D) 25%

A.B,Cmﬁm?-i-ﬁ-%mﬁ

PR TRl

TEET U5 A oo e E
A TEEE AT A ST TeE S0% =R A
b | w9 F o W W A
7 43,200 % w1 1, 7 359 B e
Taper=T #0T 7

(A) T4.200 (B) T 4,800
{C) T7.200 (D) ¥8.000

= T I T S T w2
W e 65 feare @ 85 e W
B ow T fm ¥ oW W
+ | @ TR # 6 FhE 8 T A
¥ | T, W TS i e e
(A) 100deT (By 115HE
(Cy 125 TR (D) 150 7=



= (C) 15618
<

1. 50 persons can do a work in 12 days,
working 6 hours/day, 60 persons can
the same work in 8 days, working

x hours per day. The value of x 18

2
@15 @ ©5 DS

1 1 1
112. lf.:+y=la.nd:.-' ~= 1l thenz+7

is equal to

W2 B3 ©1 OO

113. If 4x - 5z = 16 and xz = 12, the value
of 6 — 1232 is equal to
(A 15610 (B) 15616

(D} 15620

14, Kx+y+z=15xy+yz+2x=73

+ dy +
thm%ia equal o

(A) 1 (B0 (€12 (D)l

115, If the graphs of 3x — 5y = -8 and
3x + 5y = 32 intersect at the point
{p. g). then the value of p—q is

A3 ®2 ©1 @M

116. I x =3 + 2 and y =3 —/2 then

the value of &xy(x® + ¥%) is
(A) 166 (B) 32
(C) 482 D) 80

117. Ina AABC, £A =80° If BD and CD
are internal bizectors of £B and £C
respectively, then the #£BDC is,

(A) 1007 (By 1107

(Cy 120° D) 1307

118, The side BC of the wiangle ABC is
produced to D. If ZACD = 112° and

ZABC =% £LBAC, then the LABC

is equal to
(A} 68° (B) S58°
(C) 48° by 3%8°

119. In AABC, X and Y are points on
sides AB and BC respectively such
that XY || AC and XY divides
triangular region ABC into two parts

AX,
equal in area. Then 30 is equal to

242 2+3
(A =3 (B) £1—
S 4 X S

2

120. A circle is touching the side BC of
AABC at P and is also touching AB
and AC produced at Q and R
respectively. If AQ = 6 cm, then

perimeter of AABC is
(A} 6em (By 10cm
(C) 12cm Dy 18cm

gn o EnD BOTIGH WORK

111. 50

i

Y

-

(4

113, 3

F . S

114, *®

115.

116.
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B
;IETCD 111. 50 =, T v 5 9 w79 e o
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No130° T #m 2
1 3
langle ABC is {A) 15 fE}TE () 55 (D3
‘D= 112° and
1 | :
en the ZABC 112, ﬂﬁ.‘x+;=1,y+;=l.ﬂ,l"ﬂ‘z+%
T T T 0
2hEeS 1
i A2 ®; ©1 Mo
3ge
113, 3% 45 — 5z = 16 781 3z = 12 &, At
e points on 6437 = 1252 T ST B 0
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B pocs (C) 15618 (D) 15620
st i 14, B xsy+z=15 v +yz2+zx=75
B S R e e Fm 2
A2 +3 3z
2 Ayl (B0 (©2
32
——2—"*: 115 9 3x - Sy= -8 ATM 3r+ Sy =32 %
TR TREEE T (p, q) WowRR
7, p - g 1 9 T gt 0
ide BC of i i
Behicie AR (A)3 (B2 ©L1L o
2 and R 16 Tmr= 3+ ITmmy=1G-28
~cm. then . =
M &xy(x® + v7) 7 5 fiem g 7
0 cm (Al 166 (B} 12
8em €) 482

Dy 80

!

117. AABCH, £A = 807 & | 30 1t /B

115,

119.

120.

W £C % HANE B wWe BD
T CD M £BDC fEr 7w 0
(&) 100° (B) 110°
)y 120° (D) 1300

T ABC %t 91 BC %1 D 7% T2
T E | FWE 95 £ACD = 112° 7o
ZABC = f £BAC B 7 ZABC
Tem T B 9

(A} 6B® (B)58* (C)48° (D)3g°

AABC &, X 791 Y, 09T AB T BC
sl W e E XY || ACk s
XY, ABC frpimr 85 & shwes =t ot

mwﬁﬁfﬁﬂﬁrhﬁﬁqﬂ,%

Fes v 7 oo 9
2442 3
) 2% @ Y243
ot e =
& Lfﬂ o 3_5@

TF 79, AABC i 991 BC 1 P W w9
W T E HT AR T AC T = 0r
WHR: Q 7 R W ome % oTer B
TR, 9 AQ = 6 |47 81, 3 AABC
%1 9=y w2 w0

(A) 6FE (B)
(C) 12#s (D)

10 ®55
18 et




121. The length of two parallel chords of a 126, If the base of a right pyramid is a
circle are 6 ¢m and 8 cm. If the triangle of sides 21 cm, 20 cm, 12 cm
smaller chord is at a distance of 4 cm and its altitude is 30 cm, then its
from the centre, the distance of the volume (in cm?} will be
other chord from the ceéntre is (A) 430 (B) 630

122, “THiE e of S Heokecles trypeziiim i3 127. 1f the difference between an exterior
176 em? and the height is 77" of the angle of a regular polygon of n sides

, , _ and an exterior angle of another
sum of its parallel sides. If the ratio regular polygon of (n + 1) sides is
f et of e prnle St | g5 et il

iy 1
; e A5 B6 ©7 DS
(A) +/168 cm (B 147 cm
© i3FTem (D) A/137em 128. If the base of a right prism of 20 em
high is a rhombus whose diagonal

123, The medians AD, BE and CF of a are 14 cm and 18 cm, then the
triangle ABC are of lengths 18 cm, volume in ¢m? of the prism will be
24 cm and 30 cm respectively. The (A) 2520 (B) 2250
ar#a in cm? of the triangle is © 3520 D) 1250
(A)Y96 (B)192 (C)288 (D)374 '

129, The value of sin®]® + sin®3° + sin"5°

124. A solid iron sphere of diameter 6 cm + 1vieees, +5I0PBT® 4 5in?B0° is
is melted and made to a hollow 1
cylindrical pipe of external diameter (A 22 1,?{ 225
10 cm and of length 4 cm. The width i
of the sheet of pipe is (cy 23 Dy 223
(A} lem (B) 2cm (C) 3¢m (D) 4cm

130. The minimum value of cos™¥ sec’8 is

125. If the volumes of a sphere and a (A0 (B}l werz (D3
cylinder of equal radius are same,
then ratio of the radius and height of 131, If cos 6 + sec 8 = 2 (0° < B < 907)
the cylinder will be then the va cos 108 + sec 118 s
(AY4:3 (B)3:2 (Cy3:4(D)2:3 (A) O €12 (=1
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A
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123,

124.

125,

o= g % f wEw ofad 6 e w8
== wa F | G = gtE A a5 3
2 B o ar o vy it W
= o7 T B 2

(A} 5EET (B) 6T (C) 4 FHH(D) 3 T

TE THREE  iEER W aaee
176 HER & 3w TERr FOW, SEe
ST T 9 A |,
TR ATST w1 g oA 4 7R

At T fant i v T A
(A) ~JI68 s (B) 24147 B
(€ 1378k Dy n13TEE

mF s ABC =1 WEwe AD, BE
7T CF %99 18 dt, 24 dedt wem 30
Ff w B | wegmm, =W Bm oW
sy e At & 0

(A)96 (B)192 (C)288 (D)374

6 At =T W T S e i e w6
T, U EEE ST e S
T ¥, TAeer aw = 10 g E o
a4 e & | TTEE 38 T
=it grzrd et gt 7

(A) 18 (B) 285 (C) AT (D)4 FW
TiE vEEEE e O O T T T
#  STER U THE B A 39 9ee
=1 forwy mray ard = St R 7
(Ay4+3 B3 2 {34 M2:3

126. 97 T wowT e =7 amae 2] Hu,

127,

128.

129.

130,

131.

20) FHT, T 13 T g e g A
o7 T A 30 T @, A osE.
AT T ET e 2

(A)430 (B)630 (C) 1068 (D) 1260
afy o St A O T AR & A
T W (n + 1) S A T A5
TR AT % W R0 A 506, 6

n =1 917 e a7
(A5 (Bi16 (i (D)8
Tfr 20 7 S99 =79 % ooeE Wen

= T, 14 HEt e 18 HE %
I T TeeEw 8, w30 e oW
ST e H Em Y

(A} 2520 (B) 2250 (C) 3520(D) 1250

$in?1° + 3% + §in?5° + .+
Sin 87 + sin?R0° & e T = 0
1 ]
(AY22 (B} EEE () 23 {D]EEE
cos’ + sectB T AAH W fEAE B 7
(A) O w1 2 M3

o cos B + sec 8 = 2 (0° <0 = 90°) ¥,
At cos 108 + sec 1109 5= Tewmn 8 7

(A) 0 (Bl (Crd -l

T ST % T

002 PM 3
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132. In & division sum, the divisor is 10
times the guotient and 5 times the
remainder, If the remainder is 40,
then the dividend is

(A) 240 (B) 440 (C)4040 (D) 4000

1 (=4 2% 3
133, The value nfz+G_>= 5] 13+1:]+4
nf%is_

1 2
w: ® © o

1 1 3
134. Laz.r=.5+$'+m;+_?;“_—5.

The value of x is
(A) 5++5 B 0

7]
{C) :E D 5

135, The total number of prime factors in
(25110 x (24)%0 % (26)2 is

(A) 1000 (B) 120 (C) 150 (D) 140

0625 (.0720 % 28.0—

136. The value of S e 0835 1.7

(B) 3845
(D) 3945

(A} 3825
(C) 3925

137. The value of B-Bn——r"

=

ﬁ_

6
M (B}4 (©3 (D)2

138. Two numbers are respectively 25%
and 40% less than a third number,
What percent of the first is the
second 7

(A)60 {(B)70 (Cy40 ()80

139, A reduction of 20% in the price of
sugar enables Mr. Bhadra to buy an
extra 5 kg of it for ¥ 320. The
original rate of sugar is

(A) Tl2perkg (B} T15perkg

f!lﬁwm D) 220 perke

140. In two blends of mixed tea, the ratios
of Darjeeling and Assam tea are 4 : 7
and 2 : 5. The ratio in which these
two blends should be mixed to get
the ratio of Darjeeling and Assam fea
in the new mixture as 6: 13 is

(B 83
(Dy 22:35

(A) 27
(C) 4:13

SPACE FOR ROUGH WORK
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141.

142,

143.

144,

145.

If sec B — cosec 8 = 0, then the value
of tan B + cot @
(A)0  (BY1 (€)=l

From the top of a tree of height
120 m the angle of depression of two
boats in the same line with the foot
of the tree and on the same side of it
are 45° and 60° respectively, The
distance between the boats is

(A) 40(3-+3)im

(B) 40(R3-1)m

(C) 12043-Dm

(D) 120(3-y3m

(a+b—200+0b+c-2af+

{c +a— 2b) is equal 1o

{(A) (@a+b-2c){b+c—2a)ic+a-1Ib}

(B) Za+b=2c)b+c—2ajic+a-2h)

(C) Ia+b-2c)b+c-2aj(c+a-2h}

(D) —3(a +b = 2¢) (b +c - 2a)
ic+a-2b)

(D2

The sum of two numbers is 528, and
their HCF is 33. How many pairs of
such numbers can be 7

a1 ®2 (O3 (D)4

A, B and C are three taps connected
to a tank. A and B together can fill
the tank in & hours, B and C together
can fill it in 10 hours and A and C

together can fill it in ‘a‘% hours. In

how much time will C alone can fill
the tank 7

147. The increase

146, A and B walk from one mrm:'r: of a

rectangular field to the corner just
diagonally opposite. A walks along
the diagonal. and B walks along the
sides. reaching the finishing point
together, If the ratio of the length and
breadth of the field is 3 : 4, the ratio

of their speeds is
(A) 3:4 (B] 4:3
(C} 4:5 D) 5:17

Direction : Study the following table and

answer questions 147 and 148 :

Percentugpe of candidates| Total
qualified under discipline number of
& candidates
2 i E| § | qualified
BEE| T &
Z|E1E| B
' - 1
2006|2440 | 19 |09 OB T8O
200715 42 (18] 13 12 30
008 (20| 45 | 20| 08 | OF S00
009 |15]45 16| 14| 10 620
00(19) 35| 15| 19 12 o0
EIJIIJIE 42 (14712 M4 850 |

in the number of
candidates gualified under
Engineering discipline from 2009 10
2010 was

{A) 10 hours 12 hours (A) 2B (By 30
(C) 20 hours (D) 30 hours (C) 46 (D) 49
LPArE TR ROUGH WORK Vol o ek



 corner of a

COMEr just
walks along
ks along the
ishing point
e length and
1 4, the ratio

4:3
w E

g table and

d148:

| et L

tes Total

ne | number of

;| candidates
qualified

| TED
i G50
{ 300
! G20
I 300
b 550

number of
d under
rom 2009 o

141.

142,

143.

144,

145.

ofE sec B — cosec B =0, ¥, T tan 6 +
cot 8 =1 = fEem 5 7

(A0 Byl (©-1 (D)2
120 der S T iy % i ® 9w
mEETEO M AT TR R T A
ﬁmﬂmaﬁ%awﬁwm;
45° YT 60° ¥ | HEEN, 39 e F
e w1 g e

(A) 40(3-+f3) 7

(B) 40(n3-1)4

© 1200f3-1n

(D) 12003 =3y 5t

fa+b-2eP +(b+c—-2aP+ic+a
— 2h)? feeris AT B 7
(A) fa+b-2c){b+c—2a)(c+a-2h)
B) Ha+b—2c)(b+c-2a)(c+a=2b)
i) 3a+b-2c)(b+c~-2a)(c+a—2b)
(D) =32 + b =2¢) (b + c - 28}
fc+a-2h)
=T wEE w oA 528 & ¥ I
mEwY AATEEE 33 & | WEEE, T
TR SEns & T fEe A A
aFAET?
(Y1 (EF2 3 (e
A, B 71 C o et o 39 ¥ e
¥ | A SO B U WY 36 oF B 60 A
W WAt £, B war C 39 10 ¥ 7 &

ﬁﬁmcz&?%sia’iﬂm"mﬁr%l

146. A 7T B UTF SOAEN U5H ¥ U TH

& gt formoten: fag Wi T B
9 A Townl % am@w 9o k@ B
qEat & e s st g A S
T T TR § | A, 4 T W
e A Wi W A 3 4 6, At

Tt TR S R 8
(A) 3:4 (B) 4:3
) 415 @ 5:7

Fodor . Ty Ol W aenER wew w147

T 148 % FOC AN

| frmedmmE s | 9
vy wifee AR | SETEERT
ufame

200624 | 40 | 19 | 09 T80
a07|15( 42 [ 18] 13| 12 650
2008(20]| 45 (20 |08 | 07 500
200015 45 [ 16 | 14| 10 6200
2010|1935 (15|19 | 12 90 .

11 [18|4z 14|12 14 | 850

147, FffwmioT & @@ 8 2000 F 2010 wE

T SR C 3 2w T w @ difm ofEEd W dEn ¥ e
& 7 WA ¥ 7 e 7 ?
(&) 109 (B) 12% (A) 28 (B} 30
(C) 209 (D} 304 (C) 46 (D) 49
TE % % o wm
[
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148. The number of candidates qualified
in Science discipline was the lowest

in the year
(A) 2006 (B) 2008
(Cy 2009 (D) 2010

Direction : Study the following praph and
answer (), Nos. 149 and 150 :

Amauri (7 in lakbs} trvested in mrv s

[ eos 1% in Lnkbstof valum of Finistwd goocads

o

i

= £ 8
5
£

SRR

2
Z
=
=
Z
Z
=

[ - =)

149. The value of sales of finished goods
in 1999 was approximately what
percent of the average amount
invested in raw materials in the year
1997, 1998 and 19997
(A) 33% By 37%

(C) 49% D) 52%

150, The maximum difference between

the amount invested in raw materials
and the value of sales of fimished
goods in that year was in the year

(A) 1995 (B) 1996

(Cy 1997 (D) 1998

A

[0

L

FOR VISUALLY HANDICAPPED
CANDIDATE ONLY

147. A particle goes from a point P o
another point Q ab an average speed
of 6 metre/minute and comes back
to the point P at an average speed of
4} metres/minutes. The average
speed of the particle for the whole
journey is
{A) 50 metre/minutes
(B) 48 metrefminuies
(C) 24 metre/minutes
(I 44 metre/minutes

148, A and B are two stations 465 km
apart. & car starts from A at 10 a.m.
and fravels towards B at 65
kmyhours, Another car starts from B
at 11 am and travels towards A at 35
kmvhour. At what dme two cars meet
&ach other 7

":':}f , (A) Spm (B) 4pm (C) 3 pm (D)2 pm
=]
i:t_r 49, A car runs along the four sides of a

square field at the speed of 20 km/hr,
30 kv, 40 kmvh and 60 km/h. Find

'-"E:iﬂhme average speed (in km/h) of the

car around the field.

(A)32 (B)34 (C)38 (D)42

150, A boat goes 30 km upstream and
44 km down stream in 10 hrs, In
13 hrs, it can go 40 km upstream and
55 km down stream, then the speed
of the boat in still water is
{A) 5km'hr. (B 8 km/hr.
(C) 15 kmvhr. (Dy 13 km/'hr,

on P TOn DOITEH WINRE

LIRS o
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148, FEwE % W A i seean
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sSEEEEE
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149.

150,

e T A =g ot )
2008
2000

{A) 2006 {B)
{C) 2009 (D)

T RETET W eI w0 UEE 149
4T 150 F =97 A0

W T A R S
] #erowm i s e e e

>
=
Z
o
Z
=
Z
Z

3
B
=
3

1990 ¥ #OW O w R # Oe, o
1997, 1998 79T 1999 ¥ g U o
Tafera oftea o =7 e o e ¢

(B) 37%
(D) 52%

(A) 33%
{C) 49%

o aN ¥ oW E Trmd wed A #
et ofr o AW O W faEh #

s ity safiaame o fory

. mr ¥ w PRI Qs

145,

149,

150.

60 FreT e = S e S W E e
P fag % amow 40 dizfoae w5t st
e |/ 30 W & | WA, 39 90 aEr
o = w0 W aften i i i 7

(A} S0WHifEE (B) 4s+ifee
(C) HdiFE (D) 44

A TEr B 5t R 465 fEer w1 Tt W
P umER AW W 10 9% 9ol B
T B Ft A7 65 e, = 1ia F e
¥ TH0 T B # w11 w wet b
T A T HT 35 T, =l | o
1 ® T FH vt ¥ eg oa Em
it 7

(A) SEHE (B) 4%/ (C) 3 9= (D) 2 9

TF W UF gOE SR ¥ A #67
WA 20, 30, 40, 60 FedtE. = v w
T § | TR, 39 MeE A AT
9 S H 3 T e fedte £
(A)32 (B)34 (C)38 (D)42

T A 10 92§ 10 B ouaw & bee
W 44 Pl ¥ ¥ we = | =R
=1 13 52 F 40 feh v # e sin
55 TRl 9 % | 9W SFA B
AN, IW AE @ T WA § T

w1 T AT A T ? 4
i Feapersit wit 7
(A) 1995 (B) 1996 (A) 5 e, (B) & e,
(C) 1997 (D) 1998 () 15fefd (D) 13 %A
T HT9 % oo
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PART - IV

GENERAL AWARENESS
151, Who was the founder of the 157. Match comectly the following = ==
“Prarthana Samaj™ ? countries and their capitals by A
(A} Ramakrishna Paramahansa choosing the correct response : B}
(B) Swami Vivekananda Country Capital C)
()  Athmaram Panduranga {a) Argentina (i) Bogotd D)
([ Dayananda Saraswathi {b) Colombia (ii) Harare -
{c) Egypt (i1i) Buenos Aires =
152. Amange the following historical (d) Zimbabwe ({iv) Cairo
events chronologically choosing the . {2 (b (&) (d) L
COMTECE [ESPOnse | (A) @) (o) () ) 1L
I.  French Revelution (B) ) @v) (@ () il
O Glorious Eevolution () as) “Pj v
2 (B) () () vy (u) |
OI. American War of ;s o {A)
Independence 158. The type of root formed in Betel vine is B)
IV, Russian Revolution Sl et e
AYCT WA W (B Cl!ngullg Root Dl
@ M IV (C) Climbing Root |
© o 1 Iv I ¢, Prog ey 3. "N
) M 1 I IV 159, Chromosomes are made up of L
; ATE (A DNA (A
153. The Southernmost Point of India is BY " Protel B
(A) Cape Comorin G Feater : 3
i r D& and Protein L
qu) Point Calimere (D) RNA fI):
} Indira Point -
(D} Port Blair 160, Jersey bull used for cross breeding i5 ¢y o=
154, Which of the following soils is most {a;: xné;fgLT; by B =
ideal for paddy cultivation 7 (B) France A
{A) Laterite soil (C) Holland B
(B) Redsoil (D) Switzerland 4c
Alluvial soil : : e =
(D) Black soil 161. W]‘l!CFI .Df the following symbiotic
associations forms a lichen 7 5. ™
155. The red colour of red soil is due to An algae and a fungus =
the rusting of (B) An algae and a bryophyte (A
{A) Nitrogen (C) A bacterium and a fungus (B
(B), Humus (D) A  bacterium and & «
Iron g£Ymnosperm I:I
) Lopper 162, Which one of the: Follawing crop | 8
156. Which one of the following rivers combination is not adopted in mixed 56 7%
crosses the equator two times 7 cropping in India 7 R
(A). Cango River (A) Wheat and Mustard (A
Amazon River {B) Wheat and Chick Pea B
(C) Niger River M€Y Rice and Ground nut (C
(D) Nile River (D) Ground nut and Sun flower @®
O 2013 32 WZPM3 gaps
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bllowing 1 T AT S HEE F1 @ 7 157, =1 it e === ennfet & s
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I C) R 9igin {a) =M () e
(D) o W (b} At (i) T
; 2 P dhEheE (c) P (iii) & T
pAdres mﬁlmaﬁ i I id) T (iv) =T
I e F ia) ﬂJJ' {c) (d)
: : (A) (i) i) av) (i)
R < o & @
¥ * I 1 n i1l
ﬂ],' maﬁa&m (D} (i} () (V) (i)
= Ay T oI I 158, O % F ¥ 59 vt E s 59 et
[vine is '
B 0 m 1 IV ¢? _
() O T W 1m (A) TR g
o mun 1 w (B)__. T
3. 9T # afem o aed T e wEa (©) il
£ 3 ' (D) BrERR 7E
(A) U SRR 159. TR Tt E
(B) wmEE et LAY BT
(Cy” ¥ = @ (B) WiH
D) O = (C) BLEAT a9 HEe
ding is i, mﬁﬁ%mmmﬁ (I WET'T s 1 x
Tt i o 160, wEl Hz, 5 gE H g e s
(A) B \ PR T =i e gy &
By A @ (A) F=5
ibiotic B IFIFIT‘ET : D) sz
T T A W, e aw % 161. Fr= & = oitfT 99y @R
A A AR 7 e = g 7 |
L B T (A) T A v
a o e (B) % U AT T
(C) = (C) % Tt e v Y
- (D) 7 (D) O iy w O feere
mixed 56 7= ¥ FAA T, g vy #; @ qw 162, 7= ¥ siaa wOeddeE, awe @t
TRFAE? T T § FET e A = 7
(A) = (A) Tl oo wawt -
B) e (B) 1k o @
L C) R \MET "\ wen e
| (D) e (D) et mar .
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163. Daltonism {Protanopia) is the form of

el S =

(A)__Green colour
48] Red colour
{C) Blue colour
LPU’ All the above colours

164. The photoelectric effect is described
as the ejection of electrons from the
surface of a metal when

AA) It 15 heated.

4B} Tt is placed in swong electric

' field.

\?{C} Electrons of suitable velocity
impinge on it.

\)3{ Light of suitable wavelength
falls on it
165, X-rays are

Waves
{A) Iungitudina‘if. .

transverse -
electromagnetic
(D) elastic

166. The shape of & rain drop is sphencal
due
Wiscosity
J,B’i Surface tension
{C) Elastcity »,
A Gravitation s

167. The penctrating powers of ¢ [ and
p-radiations, in decreasing order, are

(A) B

) Y. Boo
(C) By
D) o B

168. In MS-Excel, which of the following
function is used to find the highest
value within the list 7
(A) COUNT
{By FROPER

AC) MAX
(D S5UM

CG 2013

169, While the computer execules §
pragram, the program is held in
] RAM
{(B) ROM
{C) Hard Disk
(D) Floppy Disk

170. A hybrid computer is the one having
the combined properties of a
(A} Super and micro computers 3
(B) Mini and micro computers
A€} Analog and digital computers §
(D) Super and mini computers

171. Tritiom is an isotope of
(A) Oxygen
.L._(,B’T Hydrogen
{C) Phosphorous
(D) HMitrogen

172. The three basic components of an
atom are
A) _protons, neutrons and ions
protons, neutrons and electrons
[C) protium, denteriom and tritium |
(D) protons, neutrinos and lons |
i
173. Aleohol obiained in the!
saponification process i3
(A} Ethyl alcohol
(B)  Methyl alcohaol ]
(C) Wood spirit |
(D) Glycerol

174. The product of equivalent weight and
valency of an element is equal to
{A) Vapour density |
(B} Specific heat
{C)  Atomic weight
(D) Molecular weight

e e i

175. Chloroflure carbons are widely used in
(A) Microovens ¥
<(B7 Solar heaters .’
(C)  Washing machines*
Refrigerators
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169,
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176. In which Eco-system Grassland is
included 7
{A) Marine (B) Fresh water

\/n:/n” Terrestrial (D) Artificial

177. The main pollutant responsible for
Rhopal Gas Tragedy is
Methyl isocyanaie
{B) Bromine
{C) Chlorofluro carbon
(D) Chlorine

178, Presemtly the Union Minister of
Minority Affairs is
(A) Dr, Faroog Abdullah
(B} Ghulam Nab Azad
{C) K. Rahman Khan
‘EE:‘ © Salman Khurshid

L

179. Who won the Women French Open
Title in 2013 7
{A) Maria Sharapova
(B Victoria Azarenka
(C) Serena Williams
D Venus Williams

180, Which of the following places of
Sikh religious heritage is not in India 7
{A) Nankana Sahib
(B} Manded
¢! Paonta Sahib
iy  Keshgarh Sahib

181, The headquarters of which one of the
following organizations is not in

Geneva 7
x__{'ﬁ[f Food and Agricultoral
_-Organisation
(B World Meteorological
Organisation

(C)  World Health Organisation ¢
487 World Trade Organisation ia

CG 2013

|

e ——————.

i
182. Which one of the following musenms
in India and its location is wrongly
matched 7
{A) MNational -
Railway
Musewm
(B) The Calico — Mumbai
Museum |
of Textiles
(C) Salar Jung —
Museum
(D) Napier -
Museum

New Delhi

Hyderabad

Thiruvananthapure

183. Which one of the following European
Union countries has its own currency
and has rot switched over to Euro ?
(%) France By Germany
(C) Sweden (D) Spain

184, The pioneer of modern Hindi
Literature 15

(A) Srinivas Das

(B} Munshi Premchand

{C) Devaki Nandan Khatn

(D) Bharatendu Harishchandra '

185. Which country has been admitted in
July 2013 as the 28" mémber of the

European Union ?
(A) Bulgana (B} Croasia
(C} Cyprus (D) Romania

186, Which one of the following is
wrongly paired ?

Sports Ground
(A} Athletics -  Track . }
g{ Base Ball - Counr— |
) Golf = Course
(D) Wrestling - Ring

187. Which American President was a
famous AIm/T.V. star before he
became the President 7
(A} JIF. Kennedy
(B} Gerald R. Fond
(C) Richard Nixon
(D) Ronald Regan
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188. “Value added” is equal to
(A)  Output minus input
(B) Manufacturing profit
4O Gross profit (‘D
(D) Capital gain

189, Value of a commodity expressed in

terms of money is called
O

(AY Price
{B) Demand
(C) Utility
(D) Money value
190. Selling cost is an element of
{A) Monopolistic Competifion
ABr~ Perfect Competition
(C) Pure Competition
(D) Monopoly
191, The opportunity cost of a factor of
production is
{A) what it earns in ils present use.
"~ what it can earn in the long
period,

{C) what it can eam in 50me pther use,

(D) the cost of production.

192. The demand for a product which is
wanted for itself is known as \

(A7 Derived Demand

{B) Industry Demand

(C) Company Demand

(D) Direct or AutOnomous Demand

193. The Parliamentary form  of
Government in India has been
adopted from the

{A) American Constitution
(B). Russian Constitution

}  British Constitution
(D) Swiss Constitation

194, Which of these are essentials of

democratic system ?

(A) Free and fair elections
{B) FEguality of opportunity

{C) otection of rights
All of the above

195, Which Amendment Act is referred as 8, “*_

196.

197,

198.

199,

CG 2013

mini constitution 7

(A) 7" Constitutional Amendment
Act, 1956

(B) 24" Constitutional Amendment
Act, 1971

() 42™ Constitutional Amendment
Act, 1976

(D) 44™ Constitutional Amendment
Act, 1978

Which Article of the Indian
Constitution stipulates that Directive
Principles of State Policy shall not be
enforceable by any Court ?

(A) Amricle 3] (B) Article 38
{C) Article 37 (D) Article 39
Which one of the following
languages 1= not specified in
Schedule 8 of the Indian Constitution ?
(A) Sansknt (B) Sindhi

(C) English D) Nepali

Which ancient Indian kingdom is
wrongly matched below with its capital 4
(A) Maurya — Pataliputra

(R} Pandya— Madurai

(Cy Pallava — Vellore

(D) Kakatiya -~ Warangal

Which were the two dynasties, which
ruled immediately before and after
the Khiljis 7

{A) Slave and Lodi

(B) Saiyyad and Lod:

(C) Slave and Tughlag

(D) Tughlag and Lodi

Who among the following did not
participate in the 1857 Revolt against
the British 7

{A) Tantia Tope

(B} Tipu Sultan

{C) Rani Lakshmi Bai

(D) MNana Saheb
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|
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Directions © Each question or incomplete
statement &5 followed by four alternative
suggested answers or completions. In each case.
you are required to select the one that eorrectly
answers the guestion or completes the statement
and blacken [ap) sppropriate oval A, B, Cor D
by Black/Blue Ball Point Pen against the
question concerned in the Answer-Sheel.

{For VH candidates corresponding oval will
be blackened by the scribe.)

| The foliowing example illustrates the manner in
which the questions are required to be answered,
Example !

Omestion No. ‘0" -

Out of the four words given below, three are
alike in some way and ope is different. Find the
ODD word ¢

(A Girl

(B} Bay

() Woman

(D) Chair
Explanarion : In the above example, the correct
answer ig ‘Chair’ and this answer has been
suggested al ‘D', Accordingly, the answer is to
he indicated by blackening [@] the oval by Blacks
Blue Ball Point Pen in column ‘[¥ sgainst
Question No. 'Q in the manner indicated below |

Question No, “Q’

[Ad {B]

There is only cae comect answer to each guestion.
You should blacken [«] the owval of the
appropriate column, viz., A, B, C or D. If you
blacken [am] more than one oval dgainst any one
question, the answet will be treated as wrong. I
you wish to cancel any answer, you should
completely erase that black mark in the oval in
the Answer-Sheet and then blacken the oval of
revised Tesponse,

You are NOT required to mark your answers in
this Booklet. All answers must be indicated in the
Answer-Sheet only.

il [a]

MANNER IN WHICH ANSWERS ARE TO BE GIVEN
T 37 = fEiw

T | wE S e S T S a £

T . oo T A T S S & A O
v S T T B T | M T A S
Tt T A A O WA I S S
P w AT AT IO ST A
wr A, B, C T D wwAR o i 8
F (@] T
pyfezanti el & foy wme s i
T T R W '
S T T A W T A A T w  w
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FTRIOT:
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i fem g e et o e < fet oo £ 7
T FE e 60 W § | % e e o
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e

g
{C) e

(D) T
weEToT ; SO % R & e I AT AW
D d gk | TSR W F
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e T % U SR (] T 3N A0 T f
AR w

[A] (B] €] [e]

]
it T =5 S T W IR | TTe! e
i T, A, B, C 97D & HvEEw W= H® =0
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'.m;.mm In Guestions mo 1 to 7, welect the |3

- rolated word /fettersinumber  from  the  given
i, FLRX DIPY . ERKQW:
- A WQKE B BHMT
1) Clou D AGMS
[ e e
iAd 61 (B1 48
i ag Dy BO
| B8 T
A) 10 (B) 17
W 14 13
I 4. Squint : Vision - : Stammering - 2
(A} Teogue (B) Mouth
i€} Hearing (T Speech
B Rocket:Tenniy:: 7
(A% Bat: Cricket
(B Ball - Foothall
(€ Gleve ; Cricket
S4 5 DY Board ; Chess
. & Hand:Glove:: Head: 7
il (A} Hadr-pin (B} Hair
() Hat (D} Meck
1. TCEJBO : OBJECT : - TCEJORP - 7
(A} ROJOECT (B) ROPJECT
(€ ACCTROP (N PROJECT

:mmﬁm In questions no. 5 bo 11, find the odd
wordefletiers/number  pair  from - the Eiven
._Iﬂh!rmﬂml.
& (A} Radish (B} Carror
1 Patata (D) Beetron
% (A) USPM B) UROL
1 QN (D} YVSP
) (B 106 "as

'iD'IH-H

PART | : GENERAL INTELLIGENCE

12, mughmufth!glﬂdmmmh'
meaningfil order of the following 7

| DPlonghing 2 Weeding
% SBowing 4, Hurvesting
Ay 1,2,4.3 By 1,254
(€ 1,3,2.4 o 2,314
13.  Arrange the following words sccording to the
Enghsh Dictionery :
1.  Voyage 4. Voice
3. Vecalion 4. 'l:"dll.lm-ﬂ
A 2,4,8,1 B 32,41
W 23,41 i 24,21
14 Which one st of lettar whien sequentinlly
placed at the gaps in the given lelter serien
shall complets o ?
o_bab_ab_shb
A} bba (B} bua
CY paa (I bbbk
16, Fiod out the st among the four sets which is

ke the given wet.

(11 =18 = 28)
Ay 914 ~24) fd 4-12-186)
C} 19-26-38) (I (18-28-133)

Directions : In questions wo. 76 to I8, a series i
Kiven, usith one lerm m:mng Choowe the mrm; S
alternatioe from the "

17.




In the following series of Enghish aiphabets,
~ how many s b’ oocor in such & way that 9 is
s Inlhqmg_nﬂhlh‘n'md'c'lnqnw
gbeajlehaidacschkambeno
ahecpkderbehaggabelfebetu
L Br &
- Y 4 1Dy 3

ITPSYCHOLOGY is codded as ‘9834215175
and ‘SOCIOLOGY is ended az F12015175;
thin PHILOSOPHY can be eodded as
(A) BlUsZREN13 B} 9205182923

10 9206181023 () 5205181923

- Prakesh jumps higher than Pinakin, but oo
umud:uitmn;u.mp: Rohan jumps lower
than Pracav but not less than Ketsn Wha
jumps lowest

2 I;.!.} Pranav (B} Pinakin

LG 4C) Ketan {0 Rohan

e 24, Lesln and her grandmother differ in their

7 . ngos by 60 yours. After 10 years, if the sum of
their apes 15 100 years, what are their present
ages ?

(B} 20,50
(D) - 15, 76

tAy 25 Bh
(G4 10,70

5. Sarika is 19" from either ond of a row of
jicls. How many girts are there in that ros
(A 19 (B) 38
i 30 (37
‘Mohan s husband of Sons. Sesa s aunt of
e &ilﬂlﬁnﬁthhﬂrdﬂm&&wuhﬂh{
;rd:{arl tn!uhb.ut? gz
A BMEH 1B Unde
m} Bmhﬂ [Elﬁl;ﬁ-n

From the given alternatives select the word
which cannal e formed o the fetters of
the piven word,

TRANSLATION
(A) BATION {B} TRANSIT
1G4 TRANSMIT 1 NATION
HETHICS can be writtsn as SECTIHY than
how can ‘AFECTION be written 7
(Al NAOFIICE By MAOFETIC
(Cy NADFICTE i NAGFIETC
Some letters are given befow in the firat line
and numbors gre given below them in the
second line, Nombers ape tho codes for the
wiphabetn aod vicewornn, Choose e corroet
mumber-oode for the given set of slphihets

AFEH I KOMLUTR
S &0 ELS T

MAElOUD

A 6REIO0] iB) 698102
Gl 686012 iy GEEZE0
From the given altematives select the word
which can be formed uming the lettors ghivn

in the word

ONSLAUGHT
(A) STROKG B} HOUSE
(s GHGST i ENOUGH

Directions : In guestions no, J1 apd 32, eelect the
mrssng sumbor from the siven rESpORSES,

31. 4 &5 B

(B) 185
Dy 20




o no. 38 and B4, some | Divections : [n questions no. 89 ad o
¢ bagis of 4 cer e | patements oy given, fellowed by e conclieiong
ot Phys Fand I You have b conatder the slisemenis fo e
H e, aven if they sewm io b af varignes from
| commianiy kKiosen fiscts m:.muom'ﬁmaf
P o e o the given conclusons, if any, follos from e giten
w'mh Ly sirbementy Indicate v anausr,
MH &8,  Silemenis
W This world i neithor good noe bud. Each
xTuBubly 1x4upely individunt manufactures workd for himpelf
g -
> B s Conclumans :
o 65 1. Bomw peopte find this werld quite good.
‘walles 10 0 Yormarde Bount mod thems 10 m 1o | 11 508 pesln find b wacld ite bad,
Eﬁhlm.mhnlmmml s
walks B, 185 and 16 m, respectively. Hl: ) “ﬁﬁ'wm'“rnm
v iﬂmmmumpﬂm? (B) Only ewnchiision | follsvws
AY 20m i 5m () Only conchuston 11 follows
i Bath comickusons | and §] follow

{B) Faim
1) H++ur

1.

_-{&'I___ ﬁ*_

Stodemeniu

All traams mre prews. Mo pram dan dsery
w.

Conclusons :

X4 Hnmmwm

(A) Neither conelusion 1 nor 11 fullows
(B Only conclusion I follows
€1 Only conclusion 1 fallows

(D) Both the conclusions 1 ard 11 follow

m‘ﬂmmm&mﬂh o class. 25% of the

students play Wﬂlﬂ!ﬂ. 40% of e
mnhwwm,ﬁwwwmmurthr

remaining students play football, How many
Miﬂﬁiﬂnﬂmﬂu‘wnmh

'-"ﬂ'ﬂ .




|48, ldentify the diagram thst best represents the
relationship aimbng the tlasses given bejow -
Potatn, Vegetables and Entables

(A)
() i ®)

47. Which snswer figure will eomplete  the
pattern in the question figare

 Select the related figore from the gven
© nlternatives.
Qﬂmﬁgwﬂ
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i O o fallowed by § ond preceded by 51

1nttiiﬁsiﬂz!!$#1!§¥
BGRARIATIOTEBORALE

iK) A w7
2 1 0 ]

LEOVE b soited s 1357, and HATE 18 caded ae
Eum'wwnﬁiﬂﬂﬁmmnnmu1~um¢&rr

(A} LATE B} HEAT
() LEAD I TaLE
-ﬁuﬁﬂﬁ;ﬁuﬁiﬁnﬁpﬁu-.

: 448, 221, 100, 94, 8
A ae iy

: hmﬂmhhﬁiﬂmmﬁ
&ﬂh&mwmmwilta:n~

1@”"“ nmn i's aheare
-W. r:.m ) LR 2]
(£ * 3400 o ® g o

P stand for+, G for x, B e = and O for -
=upnamqﬂnmm&mafﬁnﬁﬂﬁﬂnuummmm
lﬁﬂffliﬁﬁﬂﬂaT

e 20 ';j- un xz

.”]hltndﬁhwﬂuuunﬂkmrqwnﬂmxbmhw

any operation is duﬂ-L En b are
changed as tinder©
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-__‘Ilmlﬂﬂuﬂ.lm €3 and &4 choose the LA mﬂ-ﬂﬁmm
& meaning o the given word ond

e, S (€1 Jet the thesss haif way ibroogh

e Finaily fimished fos thens after
We ronld sit here sosd il @il o
home.

(Al if the eows comme heme slowle
B4 for a very long time

IC1 [for a very short spas of e
(00 f the cows come home guitkiy

Jour alternatives chooes the o M
substizuted for the giovs words? setenor,

70. That which cannet be consamed by fire, f




By whom is John lecked after 7
{A) Wha i Jooking after Jokin ?

sentoiice. Choons thir corrivt (B4 Whe loaks after John !
mprovement & needod your (€} John looks after whom ™

yotr ansmer in the Anzuer D) Whom looks after John 7

TR. The horse jumped over the fence

{4} The fenee was jumped by the horee
ﬂ“‘ wﬁlﬂhlmw (M) The fence might be jumped over by the
=d m} 'Iﬂﬂﬂﬂtrih'mg (04 The fence was jumped over by the horse
(D) Noimprovement M The fenon by the borse wan jurmiped ovar

H Historians feel there & aa exrmow oeed fOr | 79, To make the batter add one teblespoomful of

e ﬂHmM of history baoks every five yoars baking powder to the cake mixtire

. a of the same every ten vears (A} One tablespoonful of laking powder

I” urgent (H) imperative could be added te the calie mikture 1o
{€) ‘indispensable (D) Noimprovemen: make the hatter
Sk (B} Let one wnblespoonful of boking powder
Dirvctions : In questions ko 7 to 79, o rentence bo added to the cakn miviure o0 make

haw been giten in Active/Passive Voiee. Out of the the battor.
@:p&ﬂm’m sugzested, pelect the one which best
Expresses the game genience in Passive [Active Voiee
ﬁhdmur*mw erater in the Ansier Sheet.

T} let only one tablespoonful of baking

powder be added to the cake mixture to ]
malke the hatter |

i H_E_ arranged the furniture in the house (D} Ome tablespoonful of baking powder may
. according Lo the decorstor's plane be added o the cake mixtors to make

: LA) The furniture was arranged in the house tae haster
A according to the deco m& s plans. A Directions ; In questions no. &0 4o 84, a sentonce .
[E:j T.III furniw! wos being arranged in the | Ao l'h'l'l gven an Direct /fndirect. Our of the four
SRR wmmm decoraine's plane. | elfernatives sugpested siee the one which best ,L
. (C) The furniture had been arranped in the | “Presses the same sentence in Incdivect / Divoct and
: use accarding to the decorator's plans. | ™27 Your answer in the Ansuwer She

-
i rt!

80. “T'm so tiny that | can't ry ol
axic the Fitle ey bo g1 mﬂ:h your branches,’

F the tree that he :-'
hny!h:thnmn!dﬁmnﬁlui “:'Ef:;q




CBLTu wery T oxnnot siag.” wiad the swition | Directions 1 n questions we. 85 i W fhe |
"‘l‘mww&mlﬂﬁ e las sentencor oF the s etk 9

A The wwallaw - that be wat | pentonco are nambered 7 and & The #
 waited for in Egypt and couldn's stay

(B The swallow told fhst b is sorvy he

cannat siay and added (hat he ts walted
for i g

(C] The swallow said he was morry he
couldnt say and ndded thai someene
mwm&rhmhﬂnﬂ

(g ] mmmhammﬂm
s he was waited for in Egypt

The nobiee  reads, “Trespussers will be
a——

ol mmmﬂm treapaasers will be
(B} ‘The hotier read that trespassers will be

mﬂumm thart tPetjidsnrs would Q. Bul Antonis keed Sim snd g ;
m money wiernser fn eeded it

{DT m‘“m that |respossers wouid
hm

The mother wihr:!uldmmmmth.

footpath,

l&}ﬂ'Wnﬂmme'&m B Fnrtb!wfhnudf'ﬂ'mw
) mﬂ'-ﬂmmm “Come on traded with foreign countries.

L fiae
1) Mw wmid, “Come, chid come.
E&.WHL-

Wﬂ that we should celebraie
'ﬁhhﬁ_ of Janmashtami the next

P Q. N und & Thess four parts sere nat
thuir proper wvdoar. Rood Jhe posidan sen
fiviel our Weliec® af e Sy ocueEnGTHR 1

A5,

/ penidrnre i aplt snle e parie

hhuﬂhm‘mﬁn
F wan rich aad faveos. nne s
ﬂm—--m;&#ﬁ

B Although he cxow Fom a
maore money thas be ooold alfoed
5 He was well kpown G o o




P. clad always in such sober dross
Q. with a slow and gentle pace

R was accustomed o walk somewhat
oweed

1.

a2,

6.

(A
ch

Directions : In gquestions no. 81 to 95, in J'|||.p
following passage some of the words have boen Ir@'
oul. Read the passcge carcfilly onid chobsy thie
correed andwer fo each guestion oul of the fours
alternatives and fill in the blanks b

The sun hod set but there was stall s
beht in the sky. Martin 91 on lis albow @
looked 92 through the leaves In the waters of
inke, close to the shore, he saw a 93 of alligators}
floating quietly. One of the creatures,

one, was lying on 8 hugh 95  of sand, a few v
from the water,

(A3
()

(A)
(C})

(A}
icj

tho mjor problemms ofoursociety.
-~ There should be joint uﬂmdﬁmni

P There ab and social organizatior:
for prevention and cure of this corse.

2 mﬂnmenmmpped'm-ﬂwbud.. .
such an slarming situation, We |

= Ic:mﬂrmnidk anlookers:
S Many youngsters are becoming |
vietims of this deadly curse.
We should take the pled!;e — Lot s
unite for & drug-fres world, |

RQPS (W BGRP
PQRS im PSGH

94

et (B) erossed
leaned (D) lay
inta (B4 down
u_ (D) for
semblance (B family
volume DY nimber




Direetions : fnmmﬂhiﬂﬂ’

brief passoge with & questions: following the

pitsange. Redd the passnge carefully nnd chovsr the.
best anmwer to soch guestion out of the four
olternativos  and  mark it by hlockening the
approprigte seal (W e the Ansier Shief

I eould not help thinking, ns | looked at the
works of Shakeapesrs on the ahelf. that it would
hive been lmpossible, ecompletely snd entirely, for
dny  wemar ko bave  written  the pleys  of
Shokeapeare n the age of Shalespenrs. Lot e
iinagine, sinee fuota are a0 hard (o come by, what
wiuld hove happened had Shakespeare had s
wimiderfully pifted sister, cafled Judich, Tt us B0y
Shakespenre himsedf went, very probably — his
muther was an heiress — (o the grammar school,
where he may have learnt Latin — Owvid, Virgl and
Horace — and the elements of grammar and logc.
He was, it e well known, a wild boy who ponched
rabbits, perhaps shot & deer, ang had, rather ssoner
than he should have done, to marry & woman in the
neighbourhood, who bore him & child rather quicker
than was right. That eseapade sent him to uek his
fortune in London. He had, it seemed. 5 tasts for

the theatre; he began by holding horses at the stage
doar, .

ml

Which of the fis

(A) Judith was




:bﬂ!ﬁu--l'hﬂg'}.thmﬁm e
mhﬂﬂlmuﬂnﬂi@tﬂmﬂﬁm




xey=4 and IxeYy =6
1 tatthe point (2,2) SE43y5
) ‘intersect at the poins (1, 3)
| intersect at the paint (3, 1

—

-

(B) 4
D) 12

<A

"-'_=-_' - on L e

1B} @

tntBy2

-

F114,

| The length of & Wire 1# 0 ]
amber of cireles of arcumference 132 ‘em 4
i 1

L dn an isosceles trangle ABC, AB

(€) 26
66 m. Then ﬂn_

that can be made from this iichdid
(A) 50D M) 50
© 100 Dy 1000

Suppose O is the incentre of A ABC and the

circle touches the sides BC, CA und AB at the
points P, Q. R respeetively. If & A = 60 then 4§

thie magmitude of o~ QPR s

(A 108 B &

L{ 1 (D) 120

AL,
cirtle doawn with AB as diameter intersects
BCat DUIf BD = 8 ¢m, then the longth of CD
1

(AY Bem
) Sem

n

(B} 1-5em
)8 em

A veriical stick, 12 em long, casts n shadow
8 em long on the ground, At the same time a
lower casts a shadow 40 en lang on the
ground, Determing {he height of the tower

(A} 50 cm Bl 40 e

(C) 80 cm (D) 60 e

H.ﬂ is the cirumeentre of a right-angled
mﬁc* mght-angled o B, ufe pD.'tifil}l'l
(A} lies on BC

(B} mid-point of (14

(C): “MMM

{D % [ i .- _- 5
) outside "H'-ﬂ-&@eﬁnn




(B) 13625
D) 126

| "the second to the 3™ is 9 : 6 und the first 1o
~the 375 12 4. The sacond ntimber is

Al B (B} &
(D) ‘B4

numbers are in the ratio 3 - 5 and their

(By 30 days
(D) 96 days

131, The drver
a bus 40 m ahe i
bhue is GRM petund. The
(A) 18 kmph ()1 5 Rarsph
(C) 20 misec OF A

g.-?u-ptl ol the hae'is

tea from two téa gardens, ane cosbing ¥ 244
per kg and thi other ¥ an0 per kg, in the |
ratin 5+ 810 be sellx the blended variely al =
T ‘316 per kg then has gain poreoiit is

1

A 11= (Bl 10
a8

2

iC) 20 D) 16

133 A and B entered into o partnershap with
capitalsan the io 4 © 5. Alter 3 months A

withdrew i of his capital and B withdrew

1 : :
: of his capital, The gain at the end of

10 months was T 760, A's share in this profil

is
(A} T 540 (B; ¥ 300
(CY T 360 (i b)) fq[.,,{]

134, A shophiesper onrps 4 profit of 15% on selling
a book at 104 discount on he

printed price.
The ratio of the cost price and the printed
price iy
A} 18:23 M 15 .04
(C) 18:m D) 17:23

135. 'Il:zull,‘ng y
i :"‘“ﬂfm article js ¥ 39, I its
¥ “Whr Bqual to its proft
Priee (in = 3y

of & car driving & 36 kmph locates il
ahead of him. After 20 seconds thy F

192. A producer of tea blends two varicties of S




7. 1f the minimim marks for gessing scholarshup
18 80, how many wtudents will get it ?
A iB) 12

of an excmination of 360 students. Study the
md arisovr &)-Noe. 149 and 150,

“ y .. .
{m m {10

mber of students who passed in second ‘_-.

160. Then hint in third division by

division is more Hran
(A) 64
() &0

B 5
{h B}

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

147, A cortgin sum mmounts i ¥ 5,182 in £ yeurn
and T B30 in 8 vears. 10He simpile ot

is calcuipied annually, then the principl te

JAY T 4000 :ﬁ:'l T oonh

o) = 9,882
]

() 7 5000

I the height &5 doubled sod the lLoso is

decreased by 2000, thon (he vatio of old area of
|

the mangle and pew area of the tnangle is

(A) 5:8 [ @) 23

(C1 3:10 [ D) 4.5

|
]

If tan 26 tan 48 =11, then the value of tan 58

i J'

) B 0

il
va
Gra 3 ~..':'§-
If agy 2 : 12l
Y by =5 then the value of by + — I8
ux

iH)




work of Thomas Pune inspired the
Iptqﬂnhﬂ.b:mﬂnmndunng
e mw“nrmmuv

-'-'tm ‘What is the Third Estate ?
i lﬁ#ﬁm&m

purchased by Imupehﬂﬂ.i 18

1A} Wholesale price index

{#) Consumer price index

(C) Human development index

(TN Cost of living index

Oligopoly consisis of

{B} Two sallers
(I Single sefler

A Few sallers
{C) Three salters
National Inecome tn Tiidin s eatimated by (e
Ay product and income methods

B produet method

(C) income method

i expenditurs method

The fixed cost in the short-run for a producing
firm will be

(Al always fluctusting

(B) always declining

() always constunt and fixed

(D) always iﬂmﬂng

+ Machine 100l is o0 example of poods.

(C} eapital

(B) eonspmer

) free

Gandhara art was the combination of

{A) Indian and Persinn styles of seulptures
{B) Indian nnd Chinese styles of sculptures

(C) Indian ang Greek styles of seulptures
1D} Nane of these







1. Downy mildew
:. Faddy o Blast
l." Mustard Mg
5 . 4. Rust

{A) a4, b2, e, d]
B) a1, b2, c-4,d-3
(C) a8, bl o2d4
D) =2 b4, .63

A plant with green Iesves viewed in red light
will appear

(Al Violat (BY Rlack

(C) Green (D} Hed

A body moving o a gircular path with
conrtant speed has

1A} radindly cutward sccelerntion

{B} constant retardation

{C) constant aceeloration

(D} warmable scesteratinn

+ Total internal refloction oeewrs whin light
travels from

(A & denser medium to & rarer medium with

angle of incidence greater than eriticn)
angle

(B) ararer modiem ig a denser medinm

(C) &denser medigm to @ rarer medinm

# Farer medium 10 3 denser medium with
angle of incidence greater {hag critical



:!:Fd two ﬂfﬂ“ in which ndin won gold
medals in the Asinn Athletie Championships,

199,

104, Whieh o the fllowin fs & Biodedt "%
% I::-' Lol ..-1., .?1'
-L " ik (B Dveeffiueny
() ‘Bleachieg efluent (DY Sewnge
:“ﬁ o pration of  pellutants  in

atmasphere are generally expressed in
(B4 parts per million

i€} parts per billion

(D) kilogram per equire metre

Which. eennitry  wort the  Confederations
Cup, 2013 7

(A) Tiropiay (A - Spuin

([C} Braml in Tealy

Whep ia the Chiel Justice of ndin 7
(A7 JJustee KOG, Baloknehnan
{B) Justice Altamae Kabir

G dustice T Sathinsivam

(3 Juatice Mirkandey Singh

; 'ﬁhmhm of the following dayn does mat
gynchronige with the birth snmiversary of any

LA} ‘Gandhi davnnt

(B ‘Natiznal Seionee Day
(C) Teacher's Dag

D) Children's Dy

Which ane of the Sollawing:

: B novels was nol
wnitten by Charles Diglpny 7 1
B) Hard Timey




Exampapers 47— — & Exampapers247

50 NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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g Wil ) Test Form No.
10458500 CE 2013 Zrz Wi .
987 TG 6
Time Allowed : 2 Hours (For V.H. Candidates : 2 hrs: 40 min) Moximum Marks @ 200
Gt w2 98 (e Sedvan @ 9 - 2 W2 40 W) HIERT 5 : 200

Riaed the fallewing insbrogtians carefully britore you Begin 1o aswer the quastions. Thes Booklat candelns questioes in English s wall a8 Hirdi
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INSTRUCTIONS TO CANDIDATES et 3 fAw ﬂgim
L. This Boaklel contins B00. questions in all comprising the Falleing | 1. % qfEsr & w1 200 1 ¥, Fad iR = m u i & -
Tonr pits | wm | - EmEE gigE LB 1)
far L Cienernl Inicl e 1561 Cuestboms | S S (G0 7]
= parrll - ¢ Emlish Languags |50 Dieghons) w1l SPTETF SrEE {50 W)
Parl 1l | Chmntimive Aptilude | 5t Cheesliiaie oy - S A {50 T
part IV ¢ Generzl Aareness (30 Quesions) 3. itz o fiesh) v 5 Al Fa o T W & 16 fewmte A
8 |n qeestions el hilingsally in Eoglish and Hindi, in case of | FerT B WAl Tam A

diserepancy, the Enplish version will prexail

3. A1l cuestioes e compulsody And cHy eiual marks,

4 TJ.--.rr:r.'p.v Cursidn ApgaiEe i, k25wt il be chvliennd
cach WraHE GREHET.

B Before you start o answer the yoestions you must check up this | 5, s i 3 B T e v e o = i i T e

wl o sErd f ek oA R
e E A TR A o i TR I B AT 0.0 M

&5

;

Bonklet asd ersure that 7 contziss 3l the pages {1-36) ani e 2
bt 1 page i missing or repeated. 1 you flad any defect in this 2 (1-86) § wo Y g R g e | =3 3
Booklet, yeu must get i replaced el % g  wrE it A, T T e R IR i
a. ?r’_uu will he :umdicd the Ag;kcrh-ﬁh&:ﬂa;f;pnrlg,ﬁ}- ky |E|I:1fll:r.u;.igiln£r. o
o MU samplels A C the detans o (T BT, 2 .
Ticket  Numeber @l fesr Form Sasber Sidest: of -the | B RIS F ST vt s & AW | e % Sided
Answer-Sheel carsfully, Yol Ause nlsd pen your signabse % e & FET S AT T Fie Y ez T MY
Li.-!':-Hnn thuizih 'amwmlslu::. ot the A .‘:ij_rfu ai th |:-|'¢-.|g-rn|'hu.1 i podt= e I B o B R e R wh;ﬁqﬁl
ploce befipre wou noiug|ly wia prvenTn BR quERIom, e T o i s A a7 WEATET TR T W S
ETezions | st Be: fufly  complied with, failin which, yiur i e i R
Antwer-Sheet n:.!||§ ok he aalngied e will I'-e:.&urd:‘q ZERD" A Ml 2 | T T W A ﬁf”'q AT HTE
:ﬂ_l‘\{ _n'.l:r}r. muudﬁubz:sr;'rqlﬂ m{ﬁfgﬁmiigﬂl?snduI‘lH::lmé sErAT AR AT R A :ﬁﬁ #n i
i T 5 WEVDrs B oE1 T8N s u r [‘W Tn:ﬁam m ﬁmmﬁﬂm
Wefi-hand fhunih [mpression at the Sgace pm"""'ﬂp i ;T%;m | T = R et z'l?:al'l iﬁ'ﬂﬁhgg
= e grShees, Those V. candednics whi can sign shoukd s T | X L kg
pat their signaimres in sddition b thamb impressan.) o U ET M W R S A v wT | A i

4. newers mint be shonn by compbetety hisckening the ¢emepondme FefteET TR W TR B, ¥ EE i P T ST A

vt an - Sade-ll of she- Answer-Sheet Against the: nelevnl questich Fenem e E 1) il =
panmbser by Blmeh/Bie Rall-poinr Pen only, Answers which s net | 7. 30 it i = Side-[1 7 T g0 5 e i@ m e
ahown by Bkl Aloe Bell-pot Perwill e be mwarded any mark e W e TSR i 0 g mE T
8, A machine witl riot the coded mfarmation in the ORR Anivwer-Shee = W T *FIT:‘ g ; o s
I case 1 I formarion 43 ircomplets oF differeny from che infisrmatiom = zﬁ‘rll-m S mm Hiet Wiz & o A, 3%
given in ths application Firm, such candidace will be awarded ‘TEREY TE, B TR T TR WAL L s .
i sk 8. iam.am FE-vhm # ﬂ!? =T = ok o we ) Ak
0. The Answer-Sheet must be handed aver to the Tnwigilutor bebars sow 3"“ 3]?4?1* o gz w2 e 9 fw ¥, i T ]
feave the Faseniration-Hall =’ S S
10, Faslute 1 comgly with aay of e ahove imtruetions will repder o B, mhtarams v B mE wene s TN o il
candilie lEshie i such astlonipenalty as may be deemed fit, i &
11, Tie tmammes in which the diffsrent questions ere o bi angwered has 10, Fw + ¥ & A fah vs = ot Wt 7 A T e

| heen Chpliined ot 1he ek ar this Bookbet (Page No. J6% which you FarirmrrearTs e s et 3 ATE W s § |

3 1}:.In|.1|ﬂ r—.:iulu cn.rerim}- bgr:u: Ifl;-:.llmlh-'-:rrif.mrin;::::ﬂu“l“Im- i Fafim W % T wy i falo s gfm‘- i (g wE G6) %
: Amwe he e e ity Do mot spend oo mueh | TGRS A E &, 8 ST T T R ST
| fifie on-any question 18, Ty e et ] 0 W T TR % 0 W T
(¥ 1% Tn Yisu of Questions Ma. 43 so 80 and 147 to 130 celiting 1o figursl wa § 1 Tl o T W A Sfis B9 3w
urthons, alternate quéstions have been provided 1o be atwngied by | 13 AR # FaEE O e 43 3 50 w147 A 1505 ¥ | HEE
WL cadidaies caly. afpnfie Jetzart o w e A & fow e e fm e f

14, N resgh work B o be duse on the Amswer-Sheel. Space for =
rnmph wiirk has beea provided beles ihe quesiioms. L ?ﬁﬁ%l mwﬂmtimﬁhmamn!ﬂ‘f

15, **Mobite phongs anad wivelers eommprieation devives ard comlerell ) : . -
Barrd 1 the cxemimrlon Bollsrapms. Comdidiiies are aafised 15. “ettaT !]'mi‘.- wweT #'h'l'!ﬁf e e N A gt
! 1 kieep mubile. phonestony ather wireliss commupication devices. Fify # 1 e T S R T vy 5w S

| Wil fesw pven ivicling i aff o e owa foterest, Failing ;ﬁ;ﬁﬂmmmmﬂﬁwmm off arwd GTR 7
comply with iix grosivion will be comsidered ax sing mafiri mai ) FD ORI BT NETTEE A e o7 AT I ST T
st the exmminativi ood aciios will be fafan agaimst e inclting ST ST T S T Tawgy wETE S e, T AT

crncelatlia of teeir candidature, ™ EETET AR
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FART I : GENERAL INTELLIGENCE
Directions ; In gueations no. I o ¥, select the | 12,  Find out the set smong the-four sets which is

related word fletiers/number  from  the given like the given set.
ﬁ:’ermtu-es- (11 - 18 — 25] .-
I." 1 - = o0 0] i r. l}
i3y Sgmmtisen S E (A (4-12-18) —(B) (19-26-33)
{4l Mouth {Bl Hearing O (0) (1B=28=33) 4D} (9-14—24)
{ {IN
%) EBpeech S5 Fonips 18. Which one of the given responses would be a
2. Racket:Tennis:: 7 meaningful order of the following 7
{A) Ball: Football 1. Ploughing 2. Weeding AR
(B) Clove: Cricket 3. Sowing 4. Harveating
| (C) Board: l_:hess (A) 1,2.8.4 v AR, B84
4D} Bat: Criclet (0 2 a1 d (o 1,843
d. Hand:Glove:: Head: 7 14, Arrange the following words according to the
4] Hair 1 Hat English Dictionary : .
(€1 Neck (D] Hair-pin 1. "_Jn?f,r'ia:g‘e 2. Voite 2 Y h'; |
4. TCEJBO:OBJECT::TCEJORP: 2 3. Voeation 4. Valume
(4) ROPJECT (B) JCCTROP AT 8,2,4,1 (8)- 2.4, 4.1
i€ PROJECT _ (D) ROJOECT {C) 3,4,2,1 (D) 2,4,8,1
5. PLEX : DJPV: EE'I[;Q‘-‘::‘? a £ :l_ £ 15. Which one set of letters when Suqu&nLia..l‘.}r
(Al BHMT J,E'T‘_EIDU placed at the paps in the given letter series
- e it 9
(€} AGMS (D) WQKE phals camplehe il
B YU a bab ab_abb
SRR L sk o (A3 (B) ana
ke i) __{CH-bbb (D) bba
i) B Wl Directions : In questiong no, 16 to 1 a series ia
| T d5:9zzpd=3 given, with one ferm missing. Choose the correct
| (A} 17 g (BY 14 alternative from the given ones that will complate
the aeries.
_IeT 18 D 10 e e e
. " 16, 4 7.18,08,34, 7 19
Directfons : In guestions ke, & w0 11, fnd the add et e e T
wordsslettere/rumber - patr from  the - given {A) 47 (Bl 52
adternolives, . 49 (D) 46
: : uﬁﬂ:,,“gqu Lelh= N
8, {A) Prince: Princess 17. FLA, GMB, HNC, 10D, g- P r
TB:"r ‘i.-’amp:‘i-"amlpii‘eb’/ (Al NSD BT JPE [
(2} Hero: Herpine (& TOE M OTK
(D King: @ueean =
P #:Qu 18, 135,226,353, 2 , 739 g
] o 1
i) ;**3 Cia i (A) 522 (B) 622 e
s N b (C} 682 m 722 )
10, {A) UROL (B) QNEH 19, If day hefore vesterday was Sunday, what day
oy 1 REGY AL o LLD"':EII%PHI % will fall on day after tomorrow ?
|: ll:] (A1 108 - 36 (B) T6-—46 (A} Wednesday L_..-(-Ef'l‘humdar
= ) BB—55 (D 120°-90 (Cy PFriday (D Tuesday
CE 2013/Page 2 SPACE FOR ROUGH WORK / 16 =i & fom w9 &0 @ h_],'@




W 1 ATAT g

fdor . w7 omEw 1 &7 A By w Gwew 8 A
A W S E AT

1, e R TR v

(A) HE (B) =W

() =mf (D) 9
3, twe.EhE T

(A} T : T

By EEHE :Fﬁ‘ﬂﬁ

(ch ﬁlﬂﬁ:‘-ﬂﬁﬁ

(D) e : e
3. ®Y.Emefmc 7

(A) AT (B Znft

(2 T (D} 'EIE_ ﬁ:r}
d. TCEJBD - OBJECT : : TOEJORP : 7

{A) RORJECT tB1 JCCTROP

{C1 PROJECT {D} ROJOECT
3 FLEX : DJPV :: EKQW .. 7

tA) BHMT tB] CIOU

(2] AGME {0y WQEE
6. T o O O

(A} 48 (B) 45

() 50 M &1
e AR DsBd. T

iAp 1T (B 14

cy 13 Ly 10

Fewr ;. T OB S § 11§, T o fAwew A @
o =T | AT | FE W A i

8 (Al TTHEHW : TEEET
(B) et ; TG
i} AT < AT
(D) T T
9, (Al T (B) R
i) T (e
14. 4] TROL (B} QNEH
iC) YVEP (D} USPM
11. (A} 106-36 (B) 76 - 46
() 86— 56 (D} 120- 90

12. fra fow mo9w ot A @ 3w owR w0 oAw
#ifam w1 fim o ogE % W R
(11— 18— 26)
(A) (4-12-18) (B} (18-26-38)

(Cy (18-28-33 (D (9-14- 24}
13, = fawedt 8 & Fm e 9= fmowm

st =1 T e g B 7

1, W g, o

3. = 4, REE WA
(A) 1,2.9 4 {B) 1,8, 24
(C) 28,14 D 1,2,4,3

14, Frafefgs T w S0 T=EW F EER
T.;I-'Tﬂﬁﬁ'lé

1. WVoyage 2, Woice
3. Vocation 4, Volume
A} 3,2, 4,1 (B} 2,8, 4,1
() 3,4,2,1 D) 2,4,3,1
15, H&i = FEA wp el e W owrEn
TE B F T WA e F G w7
a_hab_ab_abh
(4} haa (B aaa
() bbb (D} bha
T qE 16 F 18
ﬁ T 95 ogF # /| Br ﬂ-ﬁ%ﬂﬂ 7 ﬁ'a?
ey cvg;w Crlcrd
8. 4,7,13,922,34, 7
Al 47 {B] 62
{01 48 (I 45
17. FLA, GMB, HNC, 10D, 7
tAl NsD (B} JPE
{C) TOE D) OTK
18, 135,226,353, 7 ,739
A} B22 (B} &22
iC) 532 (D) 722
19, ofE 7 m owE ¥ oPEEw @, A owe A
T I (FE G A ) wEa G e 2
(A} HyaEm (B) FEEAfan
(Ch IFRET (D) HTETER,
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™ S Q. b
N N A T Fa
Y€ (Ll

— Puwa & KL L = ;ﬂi.r‘| P
i . e . :
20. Prakash jumpe higher than Pinakin, but not | 27. If ‘ETHICS can be written as SECTIH': then
as much as Ketan jumps. Rohan jumps lower how can AFECTION be written T
than Pransv but not less than Ketan. Who {A] NAOFETIC (B) NAOFICTE
; i lowest ?
ok j‘:‘,”; ”“’: e \JCr"NAOFIETC (D) NAOFITCE
AT Pinakin etan
(il s (C) Fohan (D) Pranar 28, Some letters are given below in the first line
If."L ) and numbers are given below them in the
SR 21, Lecla and her grandmother differ in their second line. Numbers are the codes for the
A= . M ages by 60 vears. After 10 years, if the sum of alphabets and vice-versa, Choose the correct
g =L their ages is 100 years, what are their present numbeér-cade for the given set of alphabets
L 4_3;5-! ages 7 i AFEHIEKEOMUR
93 85 4058186287
SO I”rﬂ] 20, 80 __ABT 10,70
ir Y 16, 76 (D) 25, 85 "'ri:'LElDT_\l
Wz 22 ¢ {A) GBE102" B_LB’EED‘IE
e '_'|!-' 23, Sertka iz 18 fm Blﬂlﬂ E-"Tl.'d of o row Ur (C} EH‘EE].D IDI' Eﬁaz[‘,l
e girls. How many girls are there in that row ?
g T L () 88 (B) 39 29. From the given alternatives select the word
e I ! which can be formed using the lethera given
W) 87 (D 18 5
et in the word.
2%. Mohan is husband of Sons. Sona is aunt of ONSLATGHT
- Shilpa. Ankit is brother of Sena. How 12 Ankit %.I'ﬁlj'r HOUSE '\_/#B‘/E;/H’DET
- rulachs bo Mohan T (C) ENOUGH (D) STRONG
Igl E:ml!: () ﬁm?er — 30. From the given alternatives select the word
: ? l:sl'-'ln.' !|I [l- "?r:;ntller-m- i Whit:h c ¢ h& fﬂmEa uﬂng thE IEttEIS U:I:
24, [fA=1,AIR = 28, then RIE = 7 the given word.
() a6 (D) 26 (A) TRANSIT  _4BY TRANSMIT
_ : (2 NATION (D} RATICHN
26. In the following mﬂesl of English a]pha'hetfl, Directions : In quesiions no. 31 and 32, select the
how many ‘a b ¢ oeur in such a way that b'is mizsing ntumber from the given responses.
in the middle and both ‘a2’ and " are on any
¥ 3 51.. 7 56 B
opnE Fide.
ab ¢ B 65 7
— gbeajlebaidaechkambeno 2 7 5
2]
_Ir .h abapkdcrhchaqgﬂ:hhctu (A} 1T (B} 256
(A) 8 B 4 G780 Dy 118 = 4
x_ 3 e g g2, 4 5 8 -ﬁ’__’_-_., _
I'/ﬁ'ul |*'- 3 '.:I 2 ’ S _:
(26 Iff PSYCHOLOGY" is codded as "9834215173" 4 10 4 i .
and ‘SOCIOLOGY is coded as ‘B12015173 &5 200 84 e
then 'PHILOSOPHY' can be codded as : A Sl
(A] 9205182023 (B 208181923 LAy 185 e -
(Cy 9205181923 (D) 8105232813 © 20 ; M e 3
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20,

21,

23.

25,

26,

W TR B ode g ®, S ga T
foeen e e & | 3R, e 2 e = #
Hiwa FeE 4 e T | wEs e e
*7

(A) Tafies (B) =

i) T (D) WorE

T A I 2 o e | oe0 3 W
F R | 10 T % =g, A2 TR oamm oW
IR 100 91 FW, A T G99 A R
L&

{A) 20, 80 (B 10, 70

(C) 15,75 (D} 25, 85

weldt $ uw ifs 5 S B @ mhe =

gﬂﬁlﬁﬁlw‘iﬁﬁﬁﬁﬁiﬁﬂﬁaﬁﬂf
2

(A} 38 {B) 38

{C) 37 (D 19

H1EE, B 9 8 |, A i ogan 2
HAiea 9 w1 wE # | @hEw, 999 8 fe
TR HaEfE § 7

(A) T (B} %8

(C) FH (D T

e Aml, ATR =28 F RIB=7?

{A) 28 (B) 29

{C) a5 (D)} 28

Frefefn sk st F s 4 et abe

W TER auiEan § R v A 8 8 oofnat e

‘o o Tomdy ot afm B
gbeajlecbaidaechkambena
dbcpkderbechagqrabefebetu

(B) 4

in} 2

14) &
1 3

aie fEfl g7 W § PSYCHOLOGY i
‘0834215173 fommn wmn &, s socoLocy
1 512015173 Tomn e &; o 5 5= ww
H ‘PHILOSOPHY %% firay smom 7

(4] 9205182923 (B 0208181923

{C) 9305181923 (D} BI05282018

27. 2 ETHICS' &1 ‘SECTIH o 3w 2, =
‘AFECTION % ey wevrt Tormr =1 wepm £ 2

(A) NAOFETIC (B} NAOFICTE
(0} NAOFIETC (D MAOQOFITCE

dt= et 9§ Fw e fin m ¥ o
A2 7ol ofr & % feu e £ | W% o W
whEE & g2 K | Ry s w5 w
wea e g
AFE
8 3 8

A

IHOMT R

-5 1a 237
MaAEIOD

(A BA8102 By 688012

(Cy 698210 o 698201

fén #u fowem 4 & 97 vy gfiy w fBo o
WEE % WE W VE0 §9% = 7w B
ONSLAUGHT

(Al HOUSE (B} GHOST
(2) ENOUGH (D) ETRONG

fow 7u fawedl & & a7 o P W fer
W T AW W WEW FE g7 e A

aweT |

TRANSLATION
(A1 TRANSIT iB} TRANSMIT
(01 MATION (D} RATION

fadm : pT e gl #irs2 H frvow Geew A @
TH &% T AT
3. 7 5 8
a &5 7
12 7 &
(Al 17
(€1 &0

2. 4 5 '8
i e R
4

(B) 25
(D} 115

Gd

{B) 40
(D) 4

(Al 1B5
{C) 20
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Directions : In questions no. 33 and 34, some
equations are solved on the boasie of @ certain avsien.
On the same basis, find oul the correct answer for
the unsolved egualtion,

3.

46,

37.

2:4?::5=$2T+1k4x9=514*
=8 xBm?
{A) E83 (B} 8&3
(C) &Gis [T #36
If 6241a9 71
and 3732 =20, then
4523 m 7
(A) 28 (B) 18
() 25 m 21
Select: the correct  combination  of

mathematical signs to replace ' signs and to
balanee the given equation,
BeieE g+ 3z

{A) +4+ += (B} 4=+

C} 2+ += D) —%xx

If *+" menns division, ' means multiplication,
" means subtraction and '+ means addition
then,
g

(280% 10 =200 — B = g2
TA) 58 (Bl 70
iz 112 1Dy 392
Seema started early in the morning on the
road towards the Sun. After some Hme she
turned to her left. Again after some time she
turned to her right. After moving some
distance she again turned to her right and
began to move. At this time, in what diroction
was he moving 7
LA} Morth-Weat (Bl North-East
(] East (D} South
‘A’ walks 10 m towards East and then 10 m to
hiz right. Then every time turning to his left,
he walks 5, 15 and 15 m, respectively. How
far is he now from his starting peint ¢
(A} Gm ¥ B 10m
G 15m D 20 m

Directions : In questions na, §9 andd 40, tw
statements are given, followed by two conclission
T and Il You have to consider the siatements ta b
frie, even if they seem fo be ‘at pariance fron
commoniy known facts. You have to decide which o
the given conclusions, i any, follow from the Bivel
atatemants, Indicale vour ansuer,

a8,

4,

41,

Statemernts

All trame are prams. No pram can CATTY
PAssengers,

Cotefusions
I Notram cen carry DESSEHPErE,

II. Some trames cannot CAITY PRESETgers.

LAY Only conelusion T follows
{B) Oanaly conclusion IT follows
(C) Both the conclusions T and 1 follow

D) Neither conclusion I nor T follows

Statements

Thiz world jz neither good nor bed. Each
individual manufactures world for himself
Conefusiong

I.  Bome people find this world quitie good, .
I, Some people find this world quite bad. |

LAY Only conelueion I follows |
(B} Only concluzion IT follows
{C) Both conclusions I and IT follow

(D Neither conclusion I nor 1T fallows

Five girls E, F, G, H and [ are standing in a
row. H is on the right of G, I is on the left of <
i, but iz on the right of F, H is on the left of
E. Who is standing on the extreme right ?

Al F B} G
icr H i E

CE 201 EJ'PIag_e B
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55T : TFT wEAT 33 H s § ¥ weien & 0w
SIS TN & SR WA fHwr T B 5 S
T, A SHE T HE I e ST

33.

a6,

a8,

2T xbebll, 1ud4dx9=014,

Bxdxg="7
(4 633 (B} 853
(C} G3A (0 834
afE o4l =0
. a71az = 20, M
4623 =17
(A) 26 (B 18
()23 Dy 21
Teu T R I Hghew W aw 4 foEi
yfirearm & fomn afnd st = w96 0 =g
T |
Growid+das32
Al +++= By ++w3
0 ws4+= D) —+=xx

Tig 4+ W Y R WL - e R o e
37 | WEET 3 4 = e A A
(280 4+ 10 x 201 -8+ 4 =7

(A) 58 (B 70O
M 112 (D 392

wE ¥R = w0 | 39 e, 9% e
Femm #1290 == o ot 0
(A) IELqleem (B} IR
) M= (D) Zfqor

w104, 9@ 1 o =Ee B oafl fopo o
M T T F R | i ow owm s wrd
AW HEHT, T8 FAE: 5, 1590 1597, T &

w9 92 A9 IRits e & el sl m g g
(A) -5t (B) 1073
(C) 167. (D) 20,

o weq mmr 30 Fr 40 4 2 e & s
fread 1 o 1 Br oww § 1 amwl wae w oo
HA fara w8 g & g i ae @ e
At @ et g e B i mr Gt
¥ @ whva, o o1 @, A w7 @ By a0 we)
& T 97 fAwerar £ | i I A &

&8,

40,

41.

HET

oft g oUW R | wE WE FEE E oS W
|

Ay -

[, i g Fanl 98 o W |

[l. % W Fan T8 o 7 5w |

et ey [ e B

e e 1 P

T [ o 11301 Freem d

7 A fowwd 1 i 9 #11 Fewe #

FEHT 2

ECR-CEIETE I e Tl e

3 T g T fafie o & |

T

L %@ wm 38 gfE % P s ooem
# |

IL %o & W g w1 FEew 50 e

g1

EECRTE AR oo B

et e 11 T &

) Fr=d 1 3 e e #

(D 7 T [t 3 # 1 em #

vig sl E, F. G, H 3 | 7% Ofs 7 =52
¥IH GHZA e I G%H wrE o #,
g FH e o | H ES o on 2 |z
BT Em s Ry

(ay F
iy H

{A)
1Bl
{ad]
(D}

[A)
iB)

By G
im E
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There are 120 students in a class. 25% of the | 48. Find the missing number from the given

42,
a8 stadents play volleyball. 40% of the
.; ?.:V \ remaining students play cricket, 50% of the
%  remaining students play feotball, How many
. 43 students in the class do not play any game ?
{A) 29 iB) 30
Sl (or 21 (D) 32
i
=% e
43. Seleet the related figure from the given
= alternatives.
s Question figures :
W
._* . "'f h"‘“ L 3 : ‘?
1 L] "\"'\.‘ f [ e L
Answer figures
| \O o
OO o/lle]
2 o
[A) (B {8 (I
44. Find the odd figere from the given
alternatives,
Ty \ #
LA} {B) (o) (D

43,

Choose the correct altérnative from the given
ones that will complete the series.

Guastion figures
Angwer figures !
LA) (B i) [

a7,

48,

TESPOILESS.

7 1

44 25
(A 7 By 192
M 193 (D B3

Identify the diagram that best represents the
relatienship among the classes given below :

Potato, Yepetablez and Eatables

(&) (B}
o (3)o

Which answer figure will complete the
pattern in the question figare 7

(D)

Buestion figure

{B)

A

CE 2013/Page 8
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42, wH w0 120 Feeff & | gs% femnedf
aTefrEe e & | 99 femiaet 8 | 0% e
wom £ | I femfdat 4 # sow weEE ded
¥ | wan o e faendf = wer A A o

(A} 2B (B} 30
(C}r 27 (D) 32
43, o m et § & weefan st 96T |
KR ?
l\\ ‘I-‘_, - L ] L]
&) O
%[ 28] 98 o8
G G
() (B} (cl (Dl
4, fau m Topet & & Room amsls 9w |
A
(A) {B) {c (D)
45, Fom o e & @ e oft faees gfe o
e EEieateake ool
ST TP
B 2
e I

{A] (B ¥ 4] i

46. oo z=d § & g dum wm fifag

Q10
&

(A) T (B) 192
(C) 193 (D) 98
47, 9F NG TEEnqT W e o o % i
W W HE R A
A, Hiesal =i @ [
(A} (B @
(Ch @G (D} @
48, HIH T A W AEH F T F @
HHft 2

7

B

(]
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49,

=
P !
- =, £ e
A piece of paper is folded and cutfpunched as

shown below in the question figures. From
the given answer figures, indicate how it will
appear when opened,

tluesiton figures -
THIT O 2
Ll e Lo B
Answer figires :
naﬂaonnnnn o8 O
g5 ofl|o oo al|la & o go @
|
(&) (B () {0

From the piven answer flgures, select the one
in which the question figure s
hidden/embedded,

Ruestion figure

Answer fgures |

O

CA) (B

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

43,

Find the wrong number in the given series
from the given alternatives,
445, 281 104, 46, 25

[A). 25 (Bl 46
{€) 221 (D) 108

A sum of money is to be distributed among 4,
B. C, D in the proportion of 5 : 2: 4: 4. If C
geta T 1000 more than D, what is B’z ghare 7

(A T 500 (B} =T 1,500
C) =2000 (D) #2500

44,

A6,

47

44,

If P stand for +, © for «. B for = apnd © £
then find the value of the following equstic

19GOPIGR5SQ2="
Ay 16 (B 40
(C} a2 10 40
In a peculiar mathematical operation, bef

any aperation iz started, the aumbers
changed as under

1tod changedto @
b to 9 changed to 2
0D remains e,

Applying the above condition, And the answ
of the following equatinn :

T80 + 2085 + GOR3 - BADE =17
{41 1163 (B 1008
(C) 4033 (D) 2825

Usha ranks 21™ in a class of 37 studen
What iz her rank from the |gat 7

{4) 1R {Bl 17

iy 18 (D} 19

The sum of two numbers is 21 and the
product is B0, Then sum of their squares w
ba ?

A 441
mr 261

LBy 728
(k1 S6d

In the following series of numbers, how maz

0’z are followed by 9 and preceded by 5 7
10911650920123281393
B0B4814T1675500615

4y T (Bl 3

B) o 4

LOVE ig coded as 1357, and HATE iz coded ¢
24687, What do the fipures 8417 stand for ?

{A] HEAT (B} LEAD
iC) TALE (DY LATE

CE 2013/Page 10
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43,

e w sl i e aEEw FE F U
e T HIEEA S au =ie 5 AE aE
TRz ATt S fmd o
T AT
RGN 2
I M -

LA} e (e L0

& T I ekl § #, T T amsh oW
g fomd we st fifim 2

(A) (B} (e (D)
AT grEwTaT IR iEaT & fem
i m o 4 & < AEen § wew wE
7 Fifem, |
4406, 221, 108, 46, 25
(A} 26 (B 46
() 221 (D) 108

TR A B O DFAEE 24 9%
g H #ie 5 # | =ik o w1 D A Aue
T 1,000 g ferm 2, & B T S
7

{A) T 500
{C1 T 2000

(B} 7 1,500
(D) ® 2500

45,

47.

48,

af.

gt pwr w4, QW WE R« BT WY B
e

+ 3% G F AY E A T 5
mm'ﬁ:&ﬂ:
I9GoPIGBR@2=7
(A) 16 iB) 20
(Cy 32 i) 40

v fafime afodm wfen |, fed @ o@fEn &
TREN # T, WEE # FE en @gen @
7
18 4% gz §1
5B O g2ed B 2
5[ I H T R
I o = S e g, e weE
1 I W Sl

769 + 2085 + B0E3 — 8308 = 7
(A1 1163 (Bl 10089
() 4033 {D) 2836
a7 Ty =Bt v ey w7 = WA 21T
£ | 3§ 3O FuH A =
(A} 18 (B) 17
(c) 18 (D) 18
51wl wOTEe 21 & el s e
90 8 | AT 3TF = o G fiswm B e

(A 441 iB) 728
i 261 (T} B&D
frefafan semagme & 9 v 4, e

T 915 ° o HA 7 v 5 ot e # o
10891150920123281383
500481471675509615

Ay 7 (By 3
iy 3 (4

TH FE W H LOVE ¥ 1357 o = &
#n HATE %1 2467 formn e # | &1 o6 52
TAT H 6417 T = e T A o

(B} LEAD
{0} LATE

(Al HEAT
fC) TALE
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- given with blanks to be fitlad in with an appropriate

PART I : EIN SH LANGUAGE

Directions : In guestions no. 51 to 55, some pariz of the sentences have errors and some arg correct, Find
oiet Which part of & sentence kas an error and Blasken the oval (@) corresponding to the appropriate letter

{A, B, C). If o séntence is free from error, blacken the oval corresponding to (D) in the Answer Sheet.

51. [want toger/a MA. degree/ fronr & reputed universiy lorated in India. / No error.
(A (11]] {10 {D}

B2. ot only she makes / home-made cakes / she also sells them. f Mo error.
(4] B33} {8 (o

B3, Pandit Hariprasad Chaurasia played / a flute at the Music pnferenes f in-a smiall town. / No error.
Al ) {cy )]

54. They are / ignorant of / what is happening here., { Mo error,
(A) {B) (C} (D

55. My mother made [ the servant to / complete the work, / No error.
LAY (B 18] (v

Directions : In guestions no, 56 fo 6, senfences ore | 58,  She asked me

4} whatwas the time

word(s). Four alternotives are suggested for each
(B} what i& the time

qusestion, Choose the correct alternative out of the

four and indicate i by blackening the appropricie (01 what was time
qugl (@) in the Answer Sheet. (DY what the time was
. | The doctors and the nurses worked hard to
the dying man. 59. A legislation waz passed to pumish broker:
polfh) bring up (B} bring out who____ theirclients’ funds,
(Ch  bring back (D bring round 'AY Aclgabata (B davour
57. They tried to bribe the peon but he (C} embezzle (D defaleate
them.
(4] has been too clever for 60. He fell down a flight of stairs and broks
iB} was too clever for R
(1) was being clever for (A & (B the
[0 was clever for - (C) his (D) up

CE 2013/Page 12




Direetions  In guestions no. 61 and 68, out of the
the one which best
expreszes the meaning of the given word and mark o

foiir iernatives, choose

n the Answwer Sheet,

61, Siratagem
(A} Stratum {Bl Ruby
2y Triek (I Strait
62. TForsake
u,m’ Abandon (B) Forego
1C) Disintegrate (D} Separate

Directions ¢ In guestions #o. 63 cnd 64, choose the
word oppesite in meaning fo the given word gnd
mark it in the Answer Sheet.

63. Dwreary
(A) Bolitary (B} Dribble
(2 Unususal (D) Interesting
684. Heen
(Al Tmpaesioned (B Indifferent
IC) Clever (D) Immobile

Birections : In queations no. 65 and 66, four worde
are given (n edch guestion, ot of which ondy ane
word (& correcty spelt, Find the correctly spelt ward
aned mark your grawer in the Answer Shest,

65, (A} privelege (B privilege
() priviledge (D} privalege
686. (A) hipepetamus (B} hippopotamus

() hippopatemus (D) hippopotomous

CE 2013/Perge 13

Directions : In questions no, 67 fo 68 four
alternalives  are  given  for  the Idiom/Phrose
vnderlined in the sentence. Chooge the olternotive
which bes! expresses  the meaning of the
Idigm ¢ Phrase and mark i in the Answer Sheet.

67. We could =it here and talk till the cows come

Fome.

iA} for a very long time '

(B} foravery short apan of time

iC) if the cows come home quickly =
(D} if the cows come home slowly =

8. They earn so little that it is very difficult for

them to keep the wolf from the deor,
{Al

have less money toe aveid hunger and
need

have enough money to gvoid hunger and
need

to hide the wolf behind the door =
to display the wolf before the door o

(B

(Ch
(D
Arvind finally got through with his doctoral
thesiz,

(A finally cleared his lagt examination

{B) left the thesis half way through .

{C) finally finished his thesis after hard toil
(D) was awarded his doctoral degree

Directions * In questions no. 70 to T2, oul of the
four olternafives choose the one whick can be
subgtituted for the given words/serlence.

T0. - A place of shelter for ships.
(A} Helipad (B} Port
(0} Harbour (D) Barrack
71. A shopkeeper who sells fresh and green
vegatables,
i4) Butcher (B} Shophkeeper
{01 Vender (D} Gresngrocer
72, That which cannsot be consumed by fire,

(A} Inflammable {B1 Inexheustible

(7} Ineombustible (D0 Invineible



Directions @ In questions ne. 73 and 74, o part of
the asentence f& Lnderiined, Below are muen
alternatives to the underlined part at (A) (B), (C}

which moy improve the sentence, Thoose the correet
elternative, T case no improvement [ reeded vour
answer iz (D) Moark vour answer in the Answer

Sheet.

73. Historians feel there i3 &n earnest need for
the review of history hooks every five years
and a revision of the same every ten vears,

{4) indispensable
{0 mperative

(H) urgent
(D Noimprovement

74, When describing the accident, he wasz in
fears.

(A} In describing

(B} When he was describing

() As degeribing

(D} Mo improvement

Directions : In gquestions no. 75 fo T8, o senfance
has boen given in Actives Possive Voice, Out of the
four alternatives suggested, select the one which best
expresses the same sentence in Possive/Active Voice
and mark your ansier in the Answer Shest,

76. Dhfferential Caleulus is being learnt by the

girl.

i4) The girl is learning Differential
Caleulus,

iB) The girl learns Differential Calenlus.

it The girl was learning Differential
Calealus,

D) The girl has learnt Differential Caleulus.

6. He asrranped the furniture in the howses

goeording to the decorator’s plana.

{A) The furniture was being arranged in the

housge according to the decorator’s pians.

The furniture had been arranged in the
house according to the decorator's plans.

The furniture have been arranged in the
hose according to the decorator’s plans,

The furniture was srranged in the house
according to the decorator’s plans.
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77. To make the batter add one tablespoonful of

baking powder to the cake mixture.

(A Let one tablespoonful of baking powder
he added to the calke mixture to make
the batter.

Let only one tablespoonful of baking
powder be mdded to the cake mizture to
mzke the batter.

One tahlespoonful of baking powder may
be added to the cake mixture to make
the batter.

One tablespoonful of baking powder
esuld be added to the cake mixture to
male the Datter,

(B}

(G

{0

By whom is.John looked after 7

(4} Whao looks after John ?

(Bi John Tocks after whom 7
$C1 Whom leoks after John 7
{0y Who iz looking after John 7

78, The horse jumped sver the fence:

iA} The fence might be jumped over by the
horse.

i{B) The ferice was jumped over by the horee.

{1 The foree by the horse was juniped over.

(T The fence was jumped by the horse,
Directions : In guestions no. &0 to 84, o sénlence
has been given in Direct/Indirect. Out of the four
alternatives suggested, select the one which heal

expresses the same sentence in Indirect/Direct ang
muark your arster in the Answer Sheel.

80. The mother urged the child to come on the

footpath.

{A) The mother said to the child, “Come on
the footpath.”

(Bl The mother gaid, *Come, child coms
Come on the footpath,”

[0y The mother said, “Please come on the
footpath, child.”

(D} The mother said to the child, Vo
should come on the festpath,”



81. Sushma said, “We shall celebrate the festival
of Jenmashtami tomorrow,”

A Spshma said that we should celebrate
the festival of Janmashtami the next
day.

(B) Sushma said that we shall celebrate the
fostival of Janmashtami the next day.

(¢! Sushma said that they should celebrate
the festival of Janmashtami the next
day.

(D} Sushma said that they would celebrate
the festival of Janmashtami the next
day.

82, “I'm so tiny that I can't reach your branches,”

zand the little boy to the tree.

{A) The little boy saad that the tree was s0
tiny that he couldn't reach its branches.

(B} The little boy said that he was so tiny
that he couldn't reach its branches,

i3} The little boy told to the tree that he was
so. tiny that he couldn't reach its
branches,

{D) The little boy told the tree that he was &0
tiny that he couldn't reach its branches.

“I'm sorry I cannot stay,” sand the swallow.

“T'm waited for in Egypt.”

{A1 The swallow teld that he iz sorry he
cannot stay and added that he is waited
for in Egvpt.

(B! The swallow said he was sorry he

couldn’t stay and added thab somedne

wag waiting for him in Egypt.

The swallow regretted he couldn't stay

a5 he was waited for in Egvpt.

(D) The swallow regretted that he was
waited for in Egypt and couldn't stay.

(Ch

84. The notice reads, “Trespassers will be

prosecuted.”

{A] The notice read that trespassers will be
prosecuted.,

iB1 The notice read that trespassers would
he prosecuted.

i{C) The notice reads that tre¢passers would
e prosecuted.

(3} The notice reads that trespassers will be
prosscuted,
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Directions : In questions no; 85 to 90, the 1" and
the last sentences of the possagelparts of the
sentonce ore numbered 1 and & The rest of the
nasange/ sertence ia split indo four parts and mecrrmed
P, ¢, R and 5 These four parts are nol glven tn
thair proper order. Read the passage/sentence and
find owt whick of the four combinaiions & correct.
Then find the correct answer ohd indicate it by
blackening the appropriate oval (@] in the Ansier
Shest.

E5, 1, Self help means doing our own work

curaelves.

P. They prefer to have things done for
them.

The most successful man is he who
depends the least on others.

G

R. There are men in our society who
don't exert themaelves.

8.  Such people are raraly successful.

& He has & strength of mind and
determination to succeed on his own.

{A) RP3Q (B} PQES
IC). QPSR (D} QSEP
86, 1. At the time when the city of Venice in

Italy was rich and famous, one of her
+ chief citizems was a merchant named
Antonio.

P. He had many friends, among them a
young Venetian nobleman called
Bassanio,

But Antonio loved him and gave him
money whenever he needed it.

Although he ceme from a noble
family, Bassanio was poor and spent
mare money than he could afford,

- &

% Par the merchant of Venice was a rich
man, who owned many shipse which
traded with foreign countries.

[A) POQRE By SgRP
0} EPRE (D) PR5GQ

He was well known for his kindness.



Drug addiction has now become one of
the major problems of our society.

PF. There should be joint effort of family,

gpovernment and social crganizations
for prevention and cure of this curse.

£). The possibilities of these young men
and women are nipped in the bud.

R, In such an alarming situation, we
cannot remain idle onlookers.

&, Mapny voungsters are becoming
victima of this deadly curse,

A We ghould take the pledge — “Lat us
unite for a drug-free workd.'

SQRP By PQRS
PSQR () RGPS

(Al

L]

Taunami’ whith means harbour wave"
P. usually an ocean

&. of alarge volume of a body of water
R, isa series of water waves

S, caused by the displacement

6. though it can oecur in large lakes.
RQPS R5QF

SROF TV . PSQR

LA (B

{15

Dante was of moderate height
P, clad glways in such aoher dress
Q. with a slow and gentle pace

K. was accostomed to walk somewhat
bowed

5. and after maturity
B, as befitted his ripe vears,
(A} SRQP {B) RQsP
1y PSHQ {0} QSRP
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Gueen Elzabeth had the mind
P. and nurtured her country

. through careful leaderzhip
R. of a political genius

5. and by choosing capable men

4. to assist her.

1A) RGSP (B RPQS
(G PSRQ (D) SFRQ
Directions ; In queations no. 81 o 83, in th

following possage some of the words have been et
Read the possoge carefully and ehoose th
corFfeal ansuer to eoch guestion owt of the jfou
alternatives and [l in the blanks:

et

The sun had set but there was still som
light in the sky. Martin 91 on his elbow am
looked 92 through the leaves. In the waters of th
lake, cloge to the shore, he saw a 83  of alligator
floating quietly, One of the creatures, 94 hug
one, was lying on & high 95 of sand, a few yard

from the water.

91. {A) crossed (Bl leaned
(Ch lay (D) eat
g2, {A) down (Bl at
(Ch for (D) into
93. 1A} family (Bl wolume
(C) number (D) semblance
4. (A s (B} one
LC1 single (D] &n
895, 1A) peak By pit
LG pile (D} bank



Directions : In questions no. 96 to 100, you have a

hrief possage with § guestions following the
possage. Read the passage carefully and chopee the
Best answer o egoh guestion oul of the four
by blackening the

() in the Ansuer Sheat,

alleragiives and. mark i

OpproEERoie ot

i could not help thinking, as I looked at theq

works of Shakespeare on the shelf, that it would |

Seve been impessible, completely and entirely, for
==y woman to have written the plays of
Shakespeare in the age of Shakespears, Let me
imagine, since facts are g0 hard to come by, what
would have happened had Shakespeare had a
wonderfully gifted sizter, called Judith, 1ef s aas.
Shakespeare himself went, very probably — his
mother was an heiress — to the grammar school,
where he may have learnt Latin — Ovid, Virgil and
Horace — and the elements of grammar and logie.
He wes, it i3 well known, a wild boy who poached
rabbits, perhaps shot a deer, and had, rather sooner
than he should have done, to marry & woman in the
neighbourhood, who bore him a child rather guicker
than was right. That escapade sent him to seek his
fortune in London. He had, it seemed, a taste for

the theatre; he began brv holding horses at the stage

door.

CE 2013/Page 17

86,

Which of the fallowing atatements is true 7
(A) Shakespears’s mother was poor,

(B) Shakeapeare learnt Reman.

(T Shakespeare did not have a gister.

M Judith was Shakespeare’s wife,

“Come by" means

(A} maintain BT manage to pet
(C inwent (I search
The passage ig about

1A} Shakegpeare's sister
By Shakespeare’s theatre
(0 Shakespeare’s writing

(I Shakespeare's life

Shakespears's marriage reveals that he was
(A1 impulsive (B talented

iC) wise (D} stealthy

100, Shakespeare's sister was

(A1 wise

(B} imaginary

{Z) famous ‘D ordinary



P

PART III : QUANTITATIVE APTITUDE
101. The angles of depression of the top and the

3
106. If se¢ B8 —cos b= = (Biza itive acute
bottemn of a building of height b units, from B
the top of 8 monument of height H units are angle), then secf iz equal to
complementary. If the distance between the () i (B) O
building and the menument is ‘a’ units, then .
it is always true that () 1 7 @
ohe H“ = A
i T 108. The baze of 3 pyramid of volume 4843 ¢oie
Bxi h an equilateral triangle If the height of the
L = TR pyramid i3 Lcm, then each zide of the
equilateral triangie at the base iz
(o H__a (Al 3em B 4¢n
a H-h (€ Gom Di 12w
oy H+a H 107. In a triangle ABC, AB =3 cm. BC = 4 om
H-a & and £ ABC = 3. The trianse is first rotated
_ around the side AB aad then around the side
102, ¢ 22cH +tanB  2+43 , then the valus BL. The volume of the Se=t cone, thus formied,
secH — tané 23 s X more than second come Then x is aqual
of @ in circular measurs will ha o
4 X i+ M (A) 25 B 33
12
8 o i3t
iy X oy = uHie XS
3 g
108. The b [ a right- i fre=mpl 3 umits
108, If cos 43° = % Al e e hasze o ang'hta.r.g,m_ ;Elﬂuu!.'ﬂ
T 1-’2 and hypotenuse is 13 snita. Then the area is
tan 47° is (Al 15 sg.uniis (B 30 =g units
? (C) 12 2. units ¥ 58 aq. units
B s | I
UEE*FE x 109, A wall 9 m long, § m hish ==d 30 cm thick is
to be constructed using Beck= of dimension
oy X () X 20 cr x 16 em = 10 em. How many hrigks will
¥ x% -2 be required 7 3 FANE dpmt i 1.0
5 r’h-ryr-f.lf
{A) 2800 B Se0G
104, Thevalueof ——— + — 1 s equgl () 3200 (D2 D
1+ot" o 1+tan“o
to 110, The diameter of a sphere is & e Tt s meltad
(A) 1 m 1 and drawn into a wire of dismetsr -1 om.
: Find the length of the wire.
1 {4} 24 om (B 25 cm
i - D
93 P (C) 86em (D) 42 cm
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101,

_ T 111 : AT AT s
b TR ETE =T S WA & T o it
HEEE % IV, H UFF S8 % UF WY F
Fira 5, o % | AR wem it v A A
0 U ¥, Al 9z wia W g R

h a
(A = =
a H-h
H+= h
(B =
H a-H
H a
Gy ==
" & H-h
Hin H
o = —
4 H-a h
102 'ﬂfﬁ EECB+ta;:|lﬂ'= 21—4’5 E ?ﬁ'ﬂ'ﬁ'ﬁﬂm
’ secd —tan® o_J3
o o= HE B
()= B} =
4 1%
oy X iy =
5
108, T wsd2e= 2 R T tan 47T H AR
:'r.3+:.j
#
':‘:'4.1 I=':lr_—lr [E.I i
_ulxﬂ_'_},.& X
(Ci i (D et SN
¥ 1-'12—}r1
104 —— - — L1 = o fd wow
1+ef o l+tan® o
B 7
(4 1 (B =
1
1Ch E (o) 4

105, IfE sec 8 — coz B = -

106,

107.

108,

108,

11,

2 (0w w = wm R,

it sec 8 ﬁ-ﬁl%m{ﬁ?
X[

A - (Bl D
(e (D) 2

a
AT 4843 oo T UE e = smwm o
g figs % | ok Wit < e dem B,
it smam & FHaE B & ues e
A1l Jom {B) 4em
(2] Gcm (D 12 cm

% FiM@ ABC #, AB = 2 em, BC = 4 om 3
£ ABC = 90°. BMF & 158 4= AR 5
o T & o fe yw Bo % TR | 5 wen
B R WE T OAEAR GE 9w 4 e #
x5 A= R | o« ewE I B 7

(A) 25 (B 33%

() 20 ) aa%

UH TR A W e 5 v § o 3
13 v ¥ | 7 dmwa

(A) 1597 TS {B) 30 v

() 1291 vEE (D) B0 TS
Emﬂiﬁmﬁmﬂﬂcmﬁﬁﬂaﬁ

Eﬂmxlﬁmxlﬂmnﬁm'dﬁﬁﬁﬁm
Tih T e 2 | Feerd £ amfem =0l 0

{A) 2800 (B 3600
{C) 3200 (D) 2400

UF NS F AW 6 cm ¥ | 3F fwen =
0-1 ¢m = F TR AR A arem v | A f
e W Hifam |
(A) Z4.cm
() 36 cm

{B} 28em
(D) 42 om
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111, The greatest number of solid cubes with
0-2 metre edges that can be packed in a box
whose inside dimensions are: ] m by 1 m by
Z mare
[Ay 10 (B 25
(Cy &0 Iy 250
llﬂi - Jength of a wire iz 66 m. Then the
H .II umber of circles of circumfersnce 1-32 oy
ﬁ__f; : that can be made from this wire ie
M A)-80 (B 100
| A ©) 1000 o BY 5000
I_-*"{:IIE- Suppose O is the incentre of A ABC and the
oircle touches the sides BC, CA and AB at the
=i points P, Q, R respectively. If £ A = 60°, then
| the magnitude of < QPR is
‘ (A) &0° (B) 90
| 5 (Y 1207 (D 100°
114. In an isosceles triangle ABC, AB = AC; a

cirtle drown with AB ss dinmeter intersects
BC at [¥, If BD =3 ern, then the length of CD
i

(B} 5cm

(0 &em

(A} 1:65cm
& (1 3em

| 115. A wvertical stick, 12 cm long, casts a shadow
8 om fong on the fround. At the ssme time a
tower casts 2 shadow 40 em long on the
ground. Determine the height of the tower.
tA) 40 cm B Bl em

(2 B0 cm D} B0 cm

118. If O 35 the crcumecentre of a nght-angled

triangle ABC, right-angled at B, the pozition
of point O 15

Ay mid-point of CA

1B} within triangle ARC

(Ch outeide the triangis ABC
i) liez on BC

117, If in a triangle PR, PQ = 3 cm, @R =5 ecm
and PR = 4 cm, then the angles of the triangie
in descending order of magnitude.are

(A} £ =z = =R a M
I APy -—;il
[ ST G

() 2P >R »2Q

D) £Q > LR »£P P& <ZPILLGE

118. Thegraphsof x+¥ =4 and 3x+3v =8
{A) intersect at the point (2, 2]
(B) intersect at the point (1, 3}
() inkersect at the poink (3. 1)
(D do not intersect
110, If yz:exoxy=1:2cdi{x, v 20) then
X . L
ST
¥z X
ay L B =
4 2
Lo i (D 4
2
! £t f: 1
120, If = =2, then the value of =% + —
X
18
(AL 4 () -8
(e 12 (D} 34
I21. Ifx= —l—p- then the valueof x°+ 2x 4+ 3
1++2
13
Ay 3 By 0
iy 4 (1
122 Ifa+b+ec=4, then

a0+ b +c®— 12¢° + 48 - 64 iz equal to
(A} dabe (B) 3Zabe—12ah
{C} B3abc + 12ah (DY abe+ 12%ah
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111.

112,

113.

114.

115.

116.

0-2 HiZd FN] 91 38 e &) iy e,
78 1 m« 1 m» 2 m AN faged o ==
4 & f&ar =1 o B

(B} 25
10 250

(A 10
i 50

T A S A 66 m R | 3 59 AW # @4 =
HFA 9 132 em THIT W FET 6 A R
(&1 B0 B 104

C 1000 (D1 5000

WA T % O TF 4 ABC =1 smidg & 30 g4
BC, CA 9wl AR Yosli &1 59 P, @ R
frgsi med s & 13 ca-60- 8, &
2 QPR = TR B

{4) B0 (Bl i
() 120° (D) 100°
T HUiGEE YA ABC H, AB = AC; AB =R

¥ =y wi=n 0 U g9 BCF D W vl
wAl # 13 BD=3cm B, A CD %) 7R §

A1 16 om
{C1 dem {I) Bem

12 em W TR FeEt UE 4ff 9 8 om w4
Tl EEA 3 | S, UE HEE 9 W
40 cm T BT TR | dER A S
il |

(4) 40 cm {B) B0 cm

(2 60 em (D) 650 cm

{B] Scm

o 0 TR R S ABC ®, B W
HOR 7, TG £, 7 A 0 & @

(A) CA I He.Tamg
(B) FYH ABC & Hhw

iy YA ABC % #TET
D) BC & T

117. 7 99 PQR Y, PQ =8 cm, QR =50cm N

118.

119,

121,

PR = 4 cm 2, 7 fw & =, oimm &
A wa A, ¥

(Al “P>-0 >R

(B) 2@ >~2P >4k

8 2P =L R-=20Q

(D} £Q >£R > 2P
x+y=4ﬁ3x+ﬁy=ﬁﬁmﬁﬁﬂﬁﬁ3ﬁ
= 8

(a) Bz, W

B fgaa m

€ o m

(D) wfEsy T8

aff vrimxixy=1:2:3(x 5 z=0),7
s 2 g

¥z | EX

(A % (B} L

G -3- (D 4

AR T s R S T
kA xd

(A 4 (B} 8
oy 1 (o 24
1 =
ﬂ'ﬁx: Bl s 2O B
142 ’
(&) 3 (B} 0
(C) 4 (o 1

122, ‘ﬂ'ﬁ.‘. a+h+te=4 i,fﬁ

aa+h3+c3~1202+45::—ﬁ4$i:ﬂ?$
(A} Sabe
{1 3abe+ 12ab

(Bt #abc - 12ab
(D) abe + 12ah
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123,

124,

125,

134,

12T,

1i8,

8 men can finish a piece of work in 40 daye, If
2 more men join with them, then the work
will be completed in

(A} 30 days
{1 36 days

(B} 4Zdays
WO 25 days

The driver of & car driving @ 36 kmph locstes
a bus 40 m shead of him. After 20 seconds the
bis iz 60 m behind, The apeid of tha bus is

(A) 38 kmph (B} 20 msec

Ch 72 midee (D7 18 kmph

A produter of tea hlends two varieties of
tea from two tea gardens, one costing T 240
per kg and the other # 00 per kg, in the
ratio 5 : 3. If he zells the blended variety at
T 315 per kg then his gain percent is

(A 10 By 20

2 1
i1 16= 0y 11=
i o

A pnd B entered into 3 partnership with
capitals in the ratio £ 6. After 2 months 4

withdrew % of his capital and B withdrew

|
— oF his capital, The gain at the end of
i

10 months was T 760. A's share in this profit
13

(Al T 330 (Bl ¥ 380

(C) T 450 (I 2 540

A shopliesper earne a erofit of 15% on selling
a book at 10% discount on the printed price.
The ratio of the eost price and the printad
price j5

(A 1621 (Bl 18:21

() 172y (D) 18:5%

The selling price of an article is = 99, If its

cost price is numerically equal to its profic
percenit, then its cost price (in ) is

(Al 25 {B1 a0
(Cr &6 D 37

124,

1340,

131.

182,

133,

134,

13a.

N —————————————

A man sold two tables for ® 720 each. O one
he gained 204% and on the ather he loat B05.
Find his total loss or gain in this transaction.
(Al No gain ng loss

{B) Lossof ¥ 60

(T} Gainof T 60

(D} Lossof & 50

The difference  between simple pnd
tompound interest @ 10% per annum of &
sum of T 1,000 after 4 years is

(B) T 3210
Dy ¥ 64-10

(A ¥ 31
() T didn

The average of 15 numbers is 7. If the
average of the first 8 numbers is 65 and the

average of the last 8 numbers is 8:5, then the
middle number 1=

(Al 10
C1 118

By 23
Iy 15

If V15625 =125, fnd
J156:25 + 1.5825 — JO.015695.

[A) 13:625 (Bl 13-
(S 12-5 Lk} 2-a75

The sum of three numbers is 121, The ratio of
the second to the 3™ ia 9 - & and the firge to
the 8™ 1: ¢ Thé second number is

(A1 B0 B) 52

) B4 (D &8

Two numbers are in the ratic 3 - 5 and theip
L.C.M, iz 75. What is their H.C.F, 2

{al 4 (Bl 5

() 10 (D 15 e

A's salary is 30% higher than B's aalaryThae
percent that B's salary is less than A's salary
is

(A) 30% (B) zai-]iﬁ
(@ 0% (o) 25%
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123,

124,

125

126.

127,

128,

|.""

& WEdT T wW Ft 40 ER T o awR B
If 7% Y 2 SEd 3 fus and, 9 =W

frma 9 @ o B = 2
Ay sofE= Bl 32
iy aefEA iy 26T

36 kmph 1 T F FE = W gEa A A
40 m 3 UF B oEa B | 20 HEUE % 9N
=0 a0 m TE T I R | wE ol R

{A) 36 kmph {B1 20 misec

(T} T2 misec () 18 kmph

=7 =1 UF I9EF I & 8 gl | g TR
I GIF 5.3 F 27A 4 fenm 2 — 0%
A T o240 9 ke B o3 g 1 T o300
wfi ke | 3T = TullE =12 R T 315 T ke
i 21 W =, A I @9 A wem

(A} 10 (Bl 20

g

8] IEE (0 11l

8
AsiB3 a5 3Ty g dfen & oy
WEER #1 | 3 TEF & w5 A 4 o gm0
iwﬁﬁmﬁﬁaﬁmrﬁw%
arrm o fn | 10 oF = o ° A 760
g (e T A e

(&) = 330 (B} T &30
(C) = 450 M T 540

T THEFE g5 g7 W 10% 92 W U §EE
o w9 15% ¥ @Y Fiag = # | | g5

i gfem gy 1 wgEE
{A) 18:21 (B) 1A:21
() 17:23 {DY 18:23

TE T w fwa g T 30 # | AR T
TR E ST B9 H I6E wi R
e B, T e e (T ) 2

(A) 25 (B) 30

() a5 (D} 37

128.

1340,

131.

132,

133,

154,

135.

T WEHt 4 9 AF &=, uee T 20 W | U
™ 3 204 W Be0 AW TEO W 20% EF
30 o H aw T T o omh o

(A) 7 M A A

(B T g0 ® =

(C) T 60 Y

(D) ¥ 50 w4

7 1000 1 Tf W 1o o i o omow
W S TREly I O A 4 9§ AR
e

(A) T 31 (B) ¥ 3210

(C) ¥ 40:40 D) ¥ 64:10

15 FEmAt = afteE 7 B | A et 8 HEA
w1 3ET 65 2 afn aifm 8 TEma = s
g5 B, F WET TEAT £

(A} 10 (Bl 23

() 13 D 15

o2 /15625 =125 &, A

J156.85 + 41.5626 - JD-015625 T
=ifam |
{A) 13-825
(O} 124

(Bl 136
(D 2376

d FEmad w1 AR 121} | g0 w5 A
AR oA TR AW A 14
ol e &
(A) BO (B} 62
(C) B4 (D} 88
3t HeEd 3 : 5 % W § § 3 T @
TS 75 # | 3% HEAH SEGEns w4 B 7
(A} 3 (B B
iCy 10 (D) 15
AT A B F I H 0% HE R AH
Tm & gl B B 5 999 6t ofeme =06 3

ik
(A) 30% (B) 28—%
() 205 (I} 25%
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136.

137,

138.

139,

L4t

141.

1 minmte 48 seconds in  the porcentage of
1 hour is represented by

(A 2% {B) 3%
01 4% (D) B%
ﬂ + ﬂ simplifies to
J5+43  JE—43
(A} 5 +46 (B} 25 4 .J8
(C) B -6 (@ 2J5— 348
Lo & 0 a8
H.C.F, of E-. E, EI E, E 185
1 1
2. e
s 2 10
O 1
{ s (DY —
¢ 120 120

The sum of three numbers is 132, If the first
number 1s twice the second and the third
number is one-third of the first, then the

second number 15

(A} 80
(Cy 28

(B 4B
(o 32

The least perfect square number which is
divisihle by 3, 4, 5, 6 and 8 is

CA) 800 (B) 1604
(C) 2500 (I BE0E

24 ia divided into two parts such that 7 times
the first part added to & times the second part
malkes 145, The first part is

4 11 {B1 13

C1 1B (b1 17

142,

143,

144,

145,

146.

A number when divided by 5, 8, 13 leavas
remainders 2, § and 10 respectively. The least
sach number is

[Ay 872 (B) 582

(C) 602 (D 582

The base of & prism is ano eqguilateral
trizngle of eide 12 cm If the volume of the
prism ig 1080 e, then the total surface area

of the prism in 2g. ¢m i3
{Al 7243 (B) 36043

(0] 43243 (D 1080

=

If tan 22%"::;. then eos 67+ is equal ta
R

(A ——— (Bl x
Jyl+X

(C) y1+x> o

1|'1+:':E

In the sequence

4,18, 88; ...

the 4™ term is

{A) 58 (B} 96

i) 111 (D) 123

ir r.2+32=;.r2+|:r2=31+|:|]f=1, then the
numerical value of az-e-bﬂ 15

A 0 B} 1

(ch 2 3
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e ———

196, 1 firz 48 =TT &7 UE 92 & wiwm w9 d

forn = #
(4 2% (B a%
) 4% (DY B%
1442 1-+/2
a5 T e B
(A) +B++B (B} 2J5++8
(€} J5-+8 (D) 245 -3.8

s, L 2B T 9 o rem wresden 2
'3 8 8

il
1
Ay — (B) =—
: 2 10
g 1
LB ﬁ [EE 1 E

139, # wmmai o AEe 132 # | 3 Tl e
wft g & g & s dwl e g
s ) - 3, T g0 = A

(A) B0 (B) 48
(C) 28 (D) a2
140. 3.4, 5,6 3 g ¥ Ty =maw i 9 w0 R
(A} 900 (B] 1600
(C) 2500 (D) 3600

141, 24 Ft @ W # =8 TR e T § R aE
nmaﬂ?gun'a@iﬂm#ﬁ‘jﬂnﬁﬁlﬁﬁms
AT B | TR A A
(4) 11 {B1 13
(C) 15 (D) 17

11
L

142, Freft wEm =0 5, 9, 15 % fowfim =5 = F99-

o & o 10 3 wEw # | T FEE S FE
2

{A] BT2 (Bl 592

iy B0z (D) 582

143, TF figw = sy v oEa fa @ fae

144.

145.

146.

T 12 em | AR B T A 1080 o B,

1 fsn =1 =1 TS S, T em d, B
(A) T2+43 (Bl 3603

{C) 43243 M) 1080

g tan E.Erli-ﬁ=x‘g.# -:nsﬁ'?%n {E ==

T 7

LAl = By x
-,‘|1+r 4
—
© 1= et "
¥ ]
1.Il+x

W 4, 19,38, .8 dim = |

(Al 55 (B 96

Cr 111 (D 123

e Piadeibimax+hy=1 B, WM

a2+ bY T HEEEEE O E
(A) 0 (B 1

cy 2 {Dy 3
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Directions : The histogram below shows thé marks
of &0 students wt an syamination. Examine the
diggrom and answer . Nos. 147 pnd 148

Y

12
111
10

=1 GO K0

Mumber of siudents ——

o0 0 40 50 60 70 80 90 100
Maorks ohtained —

147, How many students obtained less than 407

(A2 By 6
(o 4 [
148, 1§ the minimum marks for getting scholarship
i B0, how many students will get it ?
(A) 13 (B) 12
cr 10 I 11
Directions : The following pie-chart shows the

result of an examination of 260 studente. Study the

chart and answer Q. Noa. 149 e 150,

Paszged in
gecond division

Pagged in
t;tlil'd division

149. The number of students whe pazsed in second
division is more than that in third division by

(A B4 By 50

{C). ‘bl M a4

150, The percentage of students whio fatled is

(Al & (B 20

(C1 10 (D) 16

FOR VISUALLY HANDICAPPED CANDIDATES OHLY

147. If the height is doubled and the base is
decreased by 20%, then the ratio of old area of

the triangle and new ares of the triangle is

(A} B8 By 310
{8y 4:6 (D) 5:8
148, I tan 20 tan 4f =1, then the value of tan 34
is
tA) 0 (Bl 1
() V3 e
1.'3-
1 : LI
149, If ax+ — =c, then the value of bx+ — 18
bix at
2
ac a
Al — By —
i - be
W e o 2
alb a
150, A certain sum smounts io ¥ 5,182 in ¥ years

and ¥ 5,852 in § years. If the glmple intereat
i caleulatad annually, then the principal is

(A1 F 2,000 By ¥ 6,000

{C) T 33882 (D) T 4,000
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. % oy - @ e 750 O
& i ZUHT # | TG I FEAT T AN T T
147 FET 148 FT FACG
T

A

11
lnl ----------------------------

K
¥
B

149, T At 5ol ot 1w i A A

20 a0 40 50 60 70 B0 90 100
TR R ——
147, Tred wEt 2 40 & W 3 AW R 2
(Al 2 (Bl B
(4 iy 5
uﬂ.ﬁaﬁﬁrﬁﬁ&amﬁﬁm-ﬁmﬁ,ﬁw
Ty o e
(&) 13
(C) 10

By 12
oy 11

Fidor » Prfaran g-SE 360 ST # OF T4
wwmﬁfmmm#aﬁrm
ST 149 AT 150 & IE |

i w4 T s g 7

(A} 54 (B) 50

(C) 51 (D} 64
160, i ol & gl #

(A1 5 (B 20

(Cy 10 (D) 16

Sreres gfiranfirm T o form

147 R S # mEn W S iR SR
mmﬁﬁmmiﬁﬁﬂﬁﬁ%‘gtﬁm

#ﬂﬁgﬁ#mmmaﬁm%
(A) 2:3 (By 8:10
(C) 4:5 D) 5:8

148, T tan 20 tan4é=1 B, A1 tan 36 W B
(B) 1

- 1
[ T M =
J3

Ay 0

140, T axs Lo B M bxe — WAAR
Tx H5X

2

ac
A — | —
b e he
c] = o be
ab a

150. aﬁiﬁzaﬂﬁ*a,;azﬁmﬁ%aﬂtaaﬂ
ﬁzs,e.azmﬁmmama?rmmmﬁm

w4 4 w5 T, o g B
(&) T 2,000 (Bl ¥ 5,000
() T 3,382 (D) T 4,000
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151.

152.

153,

154,

16

157.

4 (7

PART IV : GENERAL AWARENESS

An index numhber measuring the sverage
price of consumer goods and @ services
purchased by howseholds i=

(A} Consamer price index

(B} Human development index
(C) Cost of living index

(¥ Whaolesale price index
Oligapely consists of
(A1) Two sellers

() Single seller

(B Three zsllers
(DY Few sellors

Mational Income in India is estimated by the
A1 product method
{B1 ineome method
{Ci
{3

expenditure method
product and income methods

The fixed cost in the short-ran for a producing
firm wilt be

(A} alwavs declining

(B} alwuys comstant and fized

() always inereasing

(M always flocioating

Machine tool iz an example of

(B} capital
(D} intermediary

gonds,
(A} consurner
(2 free

Gandhara art was the combination of

(A} Indian and Greek styles of sculptures
iB) Indian and Persian styles of sculptures
{01 Indian and Chinese styles of sculptures
1D} None of these

Mohamimed Gawan was a famous Wazir and

Vakil in the kingdom of
(4} Bahmani 1Bl Gujarat
(C} Kashmir 1D} Mysore
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138,

158, Which one of the

160,

161.

The first Governor of the Portuguese in India
Wasg

(A) Vaseoeda-Gama
{B) Bartholomes Diaz
(C1 Albugquergue

(D) De Almeids

following  reformative
measures was nof introduced by William
Bentinck

(&Y Abelition of Sati

(B Removal of disabilities due to change of
religion

i)

I

Abolition of slavery

Suppression of thags

Which work of Thomas Pame inzpired the
colonial peeple to fight against Britain during
the American War of Independence 7

tA) What is the Third Estate 7
(B Common Sense

{C1 The Spirit of the Laws

(D) Bocial Contract

Fasciam believes in

[A) One parly system

(B} Bi-party systemn

1C) FPragmented multi-party svatem
(D) Dominant multi-party system

162. Which of the following commizzions i3 nod &

Constitutional body ?

(A) Staff Selection Commisgion

(B} Election Commission

(01 Finance Commission

(D Union Public Service Commission




161

152

153.

164.

156,

156,

157.

YT IV : WTHT ATAERHT

T gm wid T I9eTE aegen e
garyi & ftma diWE S W9 =Sen o
T B

(A) T e G

(B W e T

(C) S Ttz i @ = g

(D) &I i g
W | B

&) & fewm (B) H s
€)= D) o faem

unA # T o s e o
(&) I fEY Zm

(B 3T fafy gm

(o =y Al

(D} 3rare st g Bt g

fedt sems w1 5 o sweEw ¥ AW
AT &t

(A) HET FAA] 88

By we o i T

(C) T Ead g

(D) T afee

T A U IgEm R S W

(A) ITHTET (B} gftra

() AT (D) A

TR, Tl Toem ot

(4) wE.F@E i owwdE 3 g Al
I

{BJ ﬁ-ﬁaﬁaﬁrtmﬂ:rafﬁqmﬁﬁaﬁ
H

(€) w6 e ok R A
Dy ¥H 8w o

qEETE TEE = 799 1 T Wz T
3 FhE . |

(A) ETREH (B) TEE

(O N (o g
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158,

168,

164,

1561,

162,

wr B it =5 aeen weE oy
(A) SR

(B) =metEhg s

(C) FiFadh

(D) 3 s

fafeam fEs g o= © & fem guer T
AT FFT T T
(A) TH T W I

(B) oi # sfrEds & www swwdeedt w g
AT

(C) SIEE & A
(D) =7 &1 259

HRIE & e gg ¥ e f@en & fmg
wEq & Tom ohmm 99 % fem owm 3 oA
wi =t Ui e o o

() TEd Hee FEE R 7

{B] AW Hg

() feofa = ana=

(D) =mafiE afEg

Fiier oy i B

(A) T = H woed §

(B) 2 = &1 g §

() Taates 5w == & wmEt o
(D} WEE W% S o o o

fe & B S s d3uE FEm T
%9

(A} FHH 5T WA

(B} T

o) fam wmm

(D) 9 S &



—

163,

164,

165.

186,

1487.

168,

by

= . _
Under the advisory juriediction, the Supreme | 168, Which e of the fllowing is net =
Court gives ita opinion on a question of law or grassland ?
fact of great public importance refarred to it (A) Solvas (B) Steppes
(T} Downs M Veld
170, Duncan Pessage separates

(A) The Prime Minister

(B} The President

(C)} The Union Law Minister

{D} Any High Court

How much time is given to Rajva Sabha to
pass a Money Bill 7

1A 12 days
(€1 14 days

{Bl 13 daya
{0} 15 days

The electoral college to elect the President
COMpPOses

{4) Al members of both the Houses of
Parliament

(B) Al elected members of both the Houses
of Parliagment

(Cr Al membeéra of Parlisment and all
members of Legizlative Assemblies and
Councifs

(D Elected members of both the Houses of
Parliament and Legislative Assemblies

Which one of the tree species does mot balong
to deciduous vegetation 7

t4) Teak {B) Hal
(21 Sandalwood (¥ Deodar

The predominant soil in the Coastal plains
and North Indian plains is

(A) Black (B} Red
(Cr Alluvial (0 Ard
Rocks having large gquantity of underground

water and permitting ready flow of water are
called

(A Aquicludes
[} Porous

(B) Aquiters
(D) Permeable
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171.

172,

173.

174,

17a.

(A} North and Middle Andamans

(B} Middle and South Andamans

(Ch  Bouth Andamang and Little Andamans

(D Little Andemans and Car Nicobar
Islands

In biclogy, water soluble substances are
referred to as

(Al hydrophobic

(Bl hydrophikic

10 hydrokinetie

(D) hydrodynamic

Amoebs sequires its food through the process

of

(A) Exocytosis
(B Endocytesic
(T} Plasmolysis
() Exocytesis and endocytosts

Female Anopheles mosquits iz the vestor of
{A) Filariasis
(C Yellow fever

(B} Dengue fever

1D Malaria

The animal association seen in a sucker fizsh
attached to a shark ia

(B) Commeansalism
(I¥ Meutralizm

(A1) Mutualism
(C} Parasitism
Which among the following i= symbietic
MNitrogen-fOxing bacteria 7

(AY Henthomonos

(Bl Psendomonos

(T Rfrizabium

(D) Azorabacter




164,

165,

163.

et wfiEn-g % o IEe e
Fift Tafly & v @ = & T AR AR &
7o T e g & W 38 e =

(A) TR

iB} TEAT B

(cy wEmm fafa @ gm

Dy Tt o 7= = g

iq i ofm =2 % fam o= oW oW
g g E T 2 7

(A 12 f&= (B} 13 &=
) 14 B3 (16 f&m
s & T 5 fay Fretes w0 e #

(A) THE ® ZH mEAl & W AT

(B) TEE I HeE o wd FEim T

(C H’Hﬁ%ﬁ‘ﬁm#ﬁﬂﬂwaﬁm
gig] & adi wEe

(D) #@ER i B e i faum wwe §
fraitag wem

166, F1AH Ta wis v sl | w98
#0
(41 BITA (F) (B) HE
{C) HEA FE (D) R

167, T 2 37T I AWE & AgE ¥ I 0

#
(A) WTE] B} =
(Cy TR (D) F5 (T%R)

168, W7 W # yferm W9 e AR wW W g

waTe B 37 areh =g FEe §
(A} e = e e
(C) Wy (D) oo
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169,

170,

171.

172,

173

174,

L76.

By 8 & ®iFo gsas TET B
(A) HEETE (BY ®=d=
(C) BE-4 (D} 5%

T T e RO B

(A} T S qE HEAH W

(B) ea R wfEw 3=

() =ik afEne Wt e STEAm
)y forem alzae of wn fremm gy =i
afrh #, 7= # T wEe H FE AR
(A} AT (ST

(By e

(o) EEmeiE
(D) AR

nften sye ER e Sl @ oEe wa B 2
(A} TR

(B UrErETELe

(©) Sz

Dy TEEwEELTEe s SR

uIE] GAIhET Hee e U T SR R

(A) TTEEATCERT (B) 7w

(ot w (D) mefe

wH U0 (W) F A S O 0 o A
s 2 mren woft Tred 8

(A} FETIHIT (B) HEHTEE

(Cy et (D FsgariEm

frm § § S wEaE g At
Hfary # 7

(A FrEEE

(B) TEWE

(C) T

(D P

r————— el



176,

177.

178,

178.

180.

Match correctly the crops listed in List I with
the diseases affecting them given in List IT:

List I List 11
Cropa) {Dizpases)
a; Paddy 1. Downy mildew
b.  Wheat 2. Blast
e.  Mustard 3. Red rot
d. Sugarcane 4. Rust
(Al a-l, b2, o, d-3
B =23 b-1,c-2 d4
(C) a2 bd, el da
(D} asd, b2, 03, d=1

A plant with preen leavea viewed in red light
will appesr
(A} Black
iC} Red

{B) Green
(D} WViolet

A body moving in & circular path with
constant apeed has

{4
[B)
(%]
{1

constant retardation
congtant acceleration
wveriable acceleration
radially outward acceleration

Total internsl reflection occurs when Light
travels from

{A) & rarer medium to 2 denser medinom
(B & denser medium to a rarer medium

() ararer medium to a denser mediom with
angle of incidence prester than critical
angle

n denzer mediom to a rarer mediom with

angie of incidence greater than critical
angle

MCE, which cuts off the electricity supply in
caze of short-cireuiting works on the

(D}

A} chemical effect of current

(B} heating effect of current

1Cr magnetic effect of current

(N electroplating effect of current
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181.

182,

184,

184,

156,

187.

188,

An operating system is afan
{A} Application software
{Bl Swvstem softwara

() Utility software

(D} Accounting software

In DS, the DIR Command iz vaed to

(A) delete files

(B} display list of files and subdirectories
(2 copy files

(D) display contents of a file

i the amount of work that the
gvatem i3 able to do per unit time.
(A} Qutput (Bi Transfer rate
(T} Throughput (I Turnaround

An example of & covalent melecule iz
{A) Carbon tetrachloride

{B) Potassium chlonde

(01 Sodium chioride

(D) Lead chloride

The element eommeon to all asids 18

(B} Hwdrogen
i Sulphur

(A) Oxygen
(C1 Mitrogen

In medicine bottles contamang tablets or
capaules, a small pouch of silica gel is kept to
(&) kill bacteria

(B} absarb mosture

(2} abeorb gases

(D) keep the bottle warm

Alumimium oxide 15 afan
(A}
(B}
L8]
(L¥)

acid oxide

hazic oxide
nentral oxide
amphoteric acid

Which one of the following 1= the most stable
eoogystem 7
(A} Desgert
(C1 Oecean

(B Mountain
i} Forest




176.

177,

178,

178,

180,

et 18 % o wEeE w o R e o

fim T T waem FA 9w A R

Hifam
ol

et il
(@) {7m)
a LIE] 1. qgi'rﬁmwl%m
b. T 7, TEw
e, TEHE! R |l
4. T ($E) 4 fw

(A} a-1,b-8 c-d,d-3
(B) =4, b, c-2, d-4
(0) a2 hed, c-1,d-3
{D) a-4, b2, c-3,d-1

g uei aen o we S H e WO
Temmg &m0
(&) M
(C) o

By B
Dy AT

o i i wTE gETRR Y H W T TR W
B B

(A} TFEHET HEA

(B) TERSHTA T

() =

(D) = amE A

it sy g #e & 99 T A R

(A} Trer oroew & HA UTSAR = AN

() e e B fie e i A

(T wrenm & wee mveEn 6 R, IEE
I ST A aTes & oy

(D waA Areas & fawer wremm W si, S
=i Ffas w0 2 A % a

ot #, 31 e F A § g O
] T TR, FH AR

(A) HRT % THTIRE w9

(R AT & AR TR W

(C) WH & HEehE TN T

(D) M TEE-E yEE W
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181.

182.

183,

184,

185.

184.

187.

188.

T WS B R

(A) ST g AT

(B) #¥ ggEwdl

(C) FTETiE FE-HEH

(D) ufere ggam

DOSH, DIR Twrdm = wam e = #

(A) FEE & Frewme F R

(B) el me TSR o weRE
w1 ¥ oo

() HIEAT Fit W W T

(D) wEw it Fmae TR w0 W T

 wmh wmoEm R A T AE

TFE B9 § 5 EE R

Ay Frig (By 3

() HEY TEE (o Wi

TR W F T

(A} TFEA SRR

(B) TrEfmEm FEEE

(o) HifEEy A

(D) &% RS

it ! w1 A e R

(A) R (B) ETEERA

{C) g (D) T

fafan @ Segm T za i i H e

3 1 U Wi TEE T AR

(&) At %1 7R &

(B1 i =R A

() e % sEnen w1 &

o Ffft e T e

et st B @

(A) W ATFEEE

(B} ENE SHEE

(C) IEEEA AFHEES

oy Iveei e

e # @ weaw wEe afus fBw wie

(arfrfufes 73) & 0

(A) iR

(C) WETETT

By 9Ed
{Dy =4



189. Which of the following is a biodegradsable | 196,

pollutant ?
(A} Dye effluent (B! Bleaching effluent
i) Sewage D) Heavy metals

197,
190. The concentration of pollutants in
atmosphere are generally expressed in

(A} parts per million
By partz per billion
(01 kilogram per square metre
{D) parts per trillion
191. Which country won the Confederations
Cap, 2013 7
{A] Spain (B) Brazil
{C1 Italy (D) Uruguay

192, Who ia the Chief Justice of India ?

(4Y Justice Altamas Kabir
(B Justice P. Bathasivam

i) Juatlee Markandey Singh 198.

(T Justice B.G. Balakrishnan

193, Which one of the following daye does not
synchronize with the birth anniversary of any
eminent Indian 7

(4] Mational Science Day 190,

i(B) Teacher's Day
(C1 Children's Day
(DY Gandhi Jayanti
194. Which one of the following novels was not
written by Charles Dickens T
(A) Hard Titnes
{B) Pride qnd Prejudice
{2 Olver Twis
(D Pickwick Papers

195, Which country hss given asylum to Julian
Asgange, WikiLeaks founder ?
iA] Cuba ‘B] Eguador
(7} Ruesia ([ None of the above
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2040,

What ie the currency of South Africa ?

(A} Real (B} Rial
() Dirham i Rand

Match the two lists containing the names of
poets and the language in which they wrote

Ramayana
Poets Language in which

Romanyena s
written

a, Kamban 1. Bengali

bh. EKrittivasa 2. Hindi

¢. Madhave Kandali 3. Tamil

d.  Tulsi Das §, Azcameszs

(A} a2, b-3, c-1,d-4
By a-8, bel, o4 d-2
(C) a4, b2 c-1,d-3
{0 a-3, b, o-L.d-2

Which one of the following countries is not a
member of the Organization of Petroleum
Exporting Countries ?

tA) Algeria {B) Brazl

(C) Ecuador ([0 Libwa

The twe events in which India won gold

medals in the Asian Athletic Championships,

2013 are

(A} Women's 400 m and Women's Discus
Throw

(B} Women's Long Jump and Men's Dizcus
Throw

{01 Women's Shot Put and Women's
4 = 400 m Relay

Dl Women's 4 = 400 m Relay and Men's
Piscus Throw

For which one of the following films directed
by Shyam Benegal was the story written
jointly by him and Dr. Verghese Kurien ?

(A) Ankur (B Miondi

(0 Marthen (D) Eubeidoa




188,

184,

191,

152,
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MANNER IN WHICH ANSWERS ARE TO BE GIVEN
w5 o Fafy

Dirvections Each question or incomplete
statement is followed by four alternative suggested
answers o ¢ompletions. In each ecase, wou are
required to select the one that correctly answera the
question o completes the statement and blacken
[@] appropriste oval A, B, C or D by Black/Blue
Ball-point Pen sgainst the guestion concernad in
the Angwer-Sheet.

(For V.H. candidates corresponding oval will
be blackened by the scrihe.)

Tae following exampls illustrates the manner in
which the questiona are required to be anawered.

Example ;
Buestion No, *Q' —

Dut of the four words given below, thres are
alike in some way and one is different. Find the
DD weord

(&) Garl

(B} Bay

() Woman

{0} Chair
Explaration : In the abhove example, the correct
answer id “Chair® and this Answer has been
suggested at TV, Accordingly, the answer ig to be
indicated by blackening @8] the oval by Black/Blue
Ball-point Pen in column ‘D' against Question No.
Q7 in the manner indicated belfe -

Guestion No, ‘@'

@& O -

There is only one correct answer to each question.
You should blacken [@] the oval of the appropriate
column, viz., A, B, C op D, If you blacken [ @] more
than eme gval against any one question. the answer
will be treated as wrong, If vou wish to cancel any
answer, ¥oit should completely erase that black
mark in the oval in the Answer.Sheet, and then
blacken the aval of revised reaponse,

You are NOT required to mark your answers in this
Booklet. All apswers must be indieated in the
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